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Program
Uses printer,crt, turbo3;

ATAKNUIN AN

Gptimum_sizehand_Location_Of_Capacitors 4

(e 1
{ 1
{ Program Opt.Pas I }
{ Find Optimum Size and Location }
{ 3 of }
{ Capacitor in Distribution System 1
{ 1
(e }

X1,X2,X3,%4,X5,%6,X7,X8,X9,X10,X11;

matrixzarray[1..30,1..30] of real;

matint=array[l..30] of integer;

label

type
matriczarray[l..30] of real;
strg=string[100];

var n,m,i,j:integer;

vsub:real;
dfrom: integer;
resistimatric;
react:matric;
phyl:matric;
egil:matric;
normal:matric;
kw:matric;
kvar:matric;
maxkvar:matric;
bkvarmax:integer;
sSum:matric;

snormal:matric;
ves:string(l];

{number of buses}

{substation voltage]

{data from}

{resistance in ohms per miles}
{reactance in ohms per miles}
{physical section lenght in miles}
{length of equivalent uniform feeder)
{normalized length}

{kw load at bus i}

{kvar load at bus i}

{maximum kvar load}

{maximum kvar bus}

{summation of l:physical length 1
{ 2:uniform feeder in miles)
{ 3:normalize feeder 1
{ 4:kvar load }
{ 5:kw load }

{sum of normalized uniform feeder)
{answer yes or no}

filevar:file of real;{data files}

name:strg;
s:strg;
value:matric;
rohm:matric;
xohm:matric;
himatric;
rdist:matric;
basez:real;
basei:real;
aresistireal;
r:real;

vsubpu:real;
angsub:real;
vbuspuold:matric;

{file name}
{print string}

{resistance in ohms}

{reactance in ohms}

{normalized bus distance from substation)
{real distance from substation}
{base impedance}

{base current}

{all resistance in feeder)}
{resistance in ohms/mile }
{of equivalent uniform feeder)
{per unit voltage at substation]
{angle of substation}

{per unit bus voltage old}



angbusold:matric;
vrbuspuold:matric;
vxbuspuold:matric;
vbuspunew:matric;
angbusnew:matric;
vrbuspunew:matric;
vxbuspunew:matric;
pup:matric;
pug:matric;
pur:matric;
pux:matric;
puir:matric;
puix:matric;
puilr:matric;
puilx:matric;
delta:matric;
vdiffmax:real;
fgx:matric;
nc:integer;
kvarc:matric;
kvarcpu:matric;
puirc:matric;

puixc:matric;

busc:matint;
hc:matric;

kp:real;

kc:ireal;

hcmatric:matrix;
icq:matric;
int:matric;
k:real;
a:matrix;
opticq:matric;
ficq:matric;

optbus:matint;

icrpuimatric;
icxpu:matric;

diffic:matric;

difficmax:real;
buscold:matric; .
sopticqg:matric;
sopticd:matric;
plossq:ireal;
plossd:real;
plossbc:real;
p:real;
dvr:matric;
dvx:matric;
dv:matric;
dang:matric;
rpu:matric;
Xpu:matric;

zpu:matric;

{angle of bus old}

{real part of per unit bus voltage old}
{imaginary part of per unit bus voltage old}
{per unit bus voltage new}

{angle of bus new}

{real part of per unit bus voltage new}
{imaginary part of per unit bus voltage new}
{per unit real power}

{per unit reactive power}

{per unit resistance)

{per unit reactance}

{per unit real load current}

{per unit reactive load current}

{real part of per unit line current}
{imaginary part of per unit line current)
{different value}

{maximum different voltage}

{Fq(x)}

{number of installed capacitors}

{kvar of each capacitor}

{per unit kvar of each capacitor}

{real part of per unit 1

{load current with capacitor}

{imaginary part of per unit }

{load current with capacitor}

{bus that capacitor is installed}
{normalized distance of capacitor}

{from substation }
{annual cost per unit of power loss}

{in $/kw/yr }
{anual cost per unit of installed}
{capacitor in $/kvar three phases}

{2d matric of normalized distance}
{current of each capacitor}

{integrate fg(x)dx}

{constance}

{hcmatric+intmatric}

{optimum capaciter current])

{1/2Icq + sigma Icq rest}

{optimum bus distance of 1}

{capacitor from substation}

{per unit real current of each capacitor}
{per unit imaginary current of each capacitor)
{difference between optimum capacitor 1
{current and the previous capacitor current}
{maximum difference of capacitor current}
{capacitor bus old}

{sum of optimum Icqg}

{sum of optimum Icd}

{power loss in g-axis}

{power loss in d-axis}

{power loss before install capacitors}
{power}

{different of real voltage p-q}
{different of imaginary voltage p-q}
{different voltage}

{different angle}

{resistance in per unit}

{reactance in per unit}

{per unit impedance}



zang:.matric;
spq:matric;
sangpq:matric;
sgp:matric;
sangqp:matric;
spqr:imatric;
spgx:matric;
sqpr:matric;
sgpx:.matric;
plosspireal;
plosg:ireal;
plosspb:ireal;
plosgb:real;
dplossp:ireal;
dplossq:real;
plg:real;
costcireal;
costpl:ireal;
totalcost:real;

costl,cost:real;

{xxx:xmxt**xx*xxx}
{* MAKING SOUND *}

{xxxxxxxxxx**:***}

procedure beep;

begin
sound(100);delay(50);
sound(200);delay(50);
sound (300);delay(50);
sound(400);delay(50);
sound(500);delay(50);
nosound;

end;

{x***txzzxxxxtxtx******xtxz}
{* PRINT TITLE OF PROGRAM *}
{xxxxxx:txxxx:xx:**x**x:azt}

Procedure ptitle;

begin
clrser;
gotoxy(18,3); write( '*xxxxx
gotoxy(18,4); write('*
gotoxy(18,5); write(’'*
gotoxy(18,6); write(’*
gotoxy(18,7); write('=

{angle of impedance}

{power flow p-q}

{angle of power flow p-q}

{power flow g-p}

{angle of power flow g-p}

{power flow p-g real}

{poéer flow p-q imaginary}

{power flow g-p real}

{power flow g-p imaginary}

{real power loss}

{reactive power loss}

{real power loss before install capacitor}
{reactive power loss befor install capacitor}
{real power loss reduction}

{reactive power loss reduction})

{power due to g-axis}

{obj. fn. of capacitor cost}

{obj. fn, of power loss cost}

{obj. fn. = costc+costpl]}

EEXEEXLERL L X R X XXX ER LT EA KRR RER LR KR ! ) H

gotoxy(18,8);write(’* Capacitors In Distribution System *’):

gotoxy(18,9);write(’'*
gotoxy(18,10);write(’*
gotoxy(18,11);write(’*
gotoxy(18,12);write('=*
gotoxy(18,13);write('*
gotoxy(18,14);write('*
gotoxy(18,15) ;write( ’*®x*x*xxx%
gotoxy(18,22);write(’ <<
readln;
beep;

end;

*");

Optc I *1);

Optimum Size And Location *');
of *1Y;

Writen By **y3
Ass.Prof. Prasit Pittiyapat =)
And 1Yy
Mr. Parames Chutima **);
Chulalongkorn University x),
')

FXEXXEXX XX RAFXEXXELXXERRRRRRRRRK D )

Press Any Key To Continue 3>> ');



{xxxtxx*xtt*ttt:xt***xtt*t*xxxxxx}

{* FIND SUMMATION OF INPUT DATA *}

{tt* EFEEXRREEREXEXEE XN RN R RN R R KK KRR }

Procedure suml2345(var n:integer;
var sum,phyl,eqil,resist,normal,kvar,kw:matric;
var bkvarmax:integer);

var 1:integer;

begin
{ SUM OF PHYSICAL LENGTH }
sum(1]:=0.0;

for ii=1 to n do
sum([1]:=sum(1}+phyl[i];

{ suM OF EQUIVALENT UNIFORM FEEDER IN MILES }
for i:=1 to n do
egil{i]:=resist[i]*phyl[i]/resist(bkvarmax];
sum{2]:=0.0;
for i:=1 to n do
sum[2]:=sum[2]+eqil[i];

{ SUM OF NORMALIZED UNIFORM FEEDER }

for i:=1 to n do
normal{i):=eqil[i]/sum[2];

sum([3]:=0.0;

for ii=1 to n do
sum[3]:=sum[3]+normal[i];

{ SUM OF KVAR }
sum(4]:=0.0;
for i:=1 to n do

sum(4]:=sum(4]+kvar([i];

{ SUM OF KW }
sum[5]:=0.0;
for i:=1 to n do
sum[5]):=sum[5]+kw[i];
clrscr;
end;

{*x** AEEERXKEEER LR R LKL R R E }

{* PRINT SUMMATION OF INPUT DATA *}

{XXXX EEERERREEEEEEZ R EE R R R R % }
Procedure psuml2345(var n:integer;

var resist,phyl,eqil,normal,kw,kvar,sum:matric);
var i:integer;

begin

clrscr;

writeln(’ *tttttxxxz:s:xx:xx;xtxx');

writeln(’ * TABLE OF INPUT DATA *’);

writeln(’ FXEETXEHXERKERD )

writeln;

writeln(’ }----- et e jmmm—————e e - P et T (mmmm————— HA
writeln(’ | {RESISTANCE; PHYSICAL {SECTION LENGTH|NORMALIZED : i Ha B
writeln(’ | BUS |OHMS/MILE , SECTION !OF EQUIVALENT }SECTION LENGTH} KW ! KVAR !');
writeln(' | No. , \ LENGTH tUNIFORM FEEDER,FOR EQUIVALENT, LOAD | ©LOAD ['});
writeln(’ | § v IN MILES |IN MILES yUNIFORM FEEDER; : o)



writeln(’ |

for ii=1 to
writeln(’

)
writeln(' |
writeln(' |

,
writeln(’ |
writeln;
writeln(’
readln;
clrscr;

end;

n do

',1:3," \',resist[i]:9:5, * !',phyl[i]:9:5,

'Leqil[i]:11:5,"

VV',normal[i]:11:5,

Vi,kw(i]:8:1,' ) Jkvar{i]:8:1,’!%);

',sum[1]1:9:5,” ,',sum[2]:11:5,
vV ,sum[5]:8:1,")" ,5um[4]:8:1,"'}");

<<¢ Press Any Key To Continue »>»>

{xxzx:x*xxxx*t:xxxx**x*xxxtxxx}

{* CHANGE FROM REAL TO POLAR =}

{axtxxxxxxxtzxx**x**txm*x*xx:x}

Procedure realpolar(n:integer;r,x:matric;var z,ang:matric);

var i:integer

begin
for i:= 1 to
begin

]

n do

z[i]:=sqrt(sgr(r[i])+sar(x[i]));
ang[i]:=arctan(x[i]/r[i]);

end;
end;

{xzxxxxax:xxxz:xsxtx*x*txxx:xx}

{* CHANGE FROM POLAR TO REAL =}

{t!ttxx*¥**K*t*******xtx!tt!!t1

Procedure polarreal(n:integer;z,ang:matric;var r,x:matric);

var i:integer

begin
for i:=1 to n
begin
rlil:=2[i
x[1):=2[1
end;
end;

do

J*cos(ang[i]);
J*sin(ang[i]);

{xxx:*:xxz:x:xxxxx:x}

{* PRINT TABL
{REREREEKF A TR

Procedure prx

var i:integer

begin

clrscr;
writeln(’
writeln(®
writeln(’
writeln;
writeln(’
writeln(’
writeln(’

E R&X =*}

FEEEXKX )

{n:integer;

rohm,xohm:matric);

ttxt*tt*t#x##t*#*t:*x’*1**1*1****!');

* VALUE OF R & X FROM BUS TO BUS *');
EXEXEFEXXKAEEXERREXKKEREERERKLLRETSR )

~~~~~~~~~~~~ g b
REACTANCE |’');
IN OHMS i T

RESISTANCE
IN OHMS

=
=1
w

ke



12¢

writeln(’ jmm——————— et (e —————— ik
for i:= 1 to n do
writeln('’ e R R T S L L R, o ) [ 4 LR
xohm[i]:10:5," 1');
writeln(’ | —————— |mmmm e jmm——mm——————— i
writeln;
writeln(’ ¢<<{< Press Any Kev To Continue »»> ’);
readln;
end;

{ R eSS S R PSS 2T 2 }

{* PRINT TABLE OF DISTANCE *}

{*txxxtxx*xx:xxxxx#xxmxzx:xx}

Procedure pdistance(n:integer;
h,rdis:matric);

var i:integer;

begin

clrscr;

writeln(’ EREEHKELLERE KX KKK AR ERRAAKE )

writeln(’ * NORMALIZED & REAL DISTANCE *');

writeln(’ AR TR AR RA S AR ET A T REERTRAE )

writeln;

writeln(’ L narnn piom A Sy, 1 O e N R Ky

writeln(’ BUS | NORMALIZED ! REAL Wy
\ DISTANCE ' } ~DISTANCE [");

———————————— e A T

writeln(’ t
writeln(’ Loy
for i:= 1 to n do
writeln(’ VA3, LRI 0RO tordist[4] 02004, 1)
writeln(’ e e atat [ttt Bt s
writeln;
writeln(’ <<< Press Any Key To Continue »>3»');
readln;

end;

{**x***¥$*X*!t**tl*!****#**tt**xkt*tx*’t***t:**’********:*!*x}
{ SUBPROGRAM FIND RADIAL LOAD FLOW BEFORE INSTALL CAPACITORS }
{t***tﬁ*X*X*Xx**x*x**##*x*3***!’*!*’*##****3********3*#!!*#t*}
Procedure loadflow(var n:integer;
var vbuspuold,angbusold,pup,pug,puir,puix,
puilr,puilx,pur,pux,vrbuspuold, vxbuspuold,
vrbuspunew,vxbuspunev , vbuspunew,
angbusnew:matric;
var vsubpu:real);
label Fl;
var i,j:integer;
) delta:matric;
vdiffmax:real;

begin
clrscr;
P1: { FIND PER UNIT LOAD CURRENT AT EACH BUS }
for i:=1 to n do
begin
puir[i]:=(pup[i)*cos(angbusold(i])+puq[i)*sin(angbusold[i]))/vbuspuold[i];
puix[i]:=(pup[i]*sin(angbusold[i])-puq[i]*cos(angbusold[i]))/vbuspucld[il;
end;

{ PIND LINE CURRENT }
for i:=1 to n do



begin
puilr(i]:=0;
puilx[i]:=0;
end;
for i:=1 to n do
for j:=1 to i do
begin
puilr{i]:=puilr(i]+puir[j];
puilx{i]:=puilx[i]J+puix[j];
end;
{ PIND NEW BUS VOLTAGE Vr+jVx )
vrbuspunew[n]:=vsubpu- (puilr[n)*pur[n]-puilx[n]*pux[n]);
vxbuspunew[n]:=-(puilr[n]*pux[n]+puilx[n]l*pur(n]);
for i:=n-1 downto 1 do
begin

vrbuspunew([i]:=vrbuspucld{i+1]-(puilr[i]*pur[i]-puilx{i]l=*pux[i]);
vxbuspunew[i] :=vxbuspuold(i+1]-(puilr([i]*pux[i]+puilx[i]*pur[i]);

end;
clrscr;

{ FIND NEW BUS VOLTAGE AND ANGLE }

for i:=1 to n do

begin
vbuspunew[i]:=sqrt(sqr(vrbuspunew[i] )+sar(vxbuspunew[i]));
angbusnew[i]:=arctan(vxbuspunew[i]/vrbuspunew[i]);

end;

{ FIND DIFFERENCE OF NEW AND OLD ITERATION }
for i:=1 to n do
delta[i]:=abs(vbuspuold[i]-vbuspunew[i]);

{ FIND MAXIMUM DIFFERENCE }
vdiffmax:=delta[l];
for i:=2 to n do
begin
if vdiffmax < delta[i] then
vdiffmax:=-delta[i];
end;
vhile vdiffmax > 0.0001 do
begin
for i:=1 to n do
begin
vbuspuold[i]:=vbuspunew[i];
angbusold([i]:=angbusnew[i];
vrbuspuold[i]:=vrbuspunew([i];
vxbuspuold[i]::vxbuspunew[i];
end;
gotoxy (27,10);
writeln(’<< Load Flow Iteration >> ');
goto P1;
end;

end;

{**!**!“f ===== l‘¥¥¥¥¥ll¥ll=“‘l*l!*’t*****’**}

{ SUBPROGRAM LOAD FLOW AFTER CAPACITORS IS INSTALLED }

{t***‘-tXS'lt*tXt¥t*¥‘*t*t***3*38*33*383***:*!**1** EEEREER }

Procedure cloadflow(var n,nc:integer;

var vbuspuold,angbusold,pup,puq,puir,puix,
puilr,puilx,pur,pux,vrbuspuold, vxbuspuold,
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vrbuspuﬁew.vxbuspunew,vbuspunew,angbusnew,
kvarcpu,puirc.puixc,icrpu,icxpu:matric;
var busc:matint;

var vsubpu:real);
label Pl;

var i,jiinteger;
delta:matric;
vdiffmax:real;

begin

{ SET SUBSTATION BUS VOLTAGE AND ANGLE } #
vsubpu:=1;
angsub:=0;

{ SET INITIAL BUS VOLTAGE AND ANGLE )
for i:=1 to n do
begin
vbuspuold[i]:=vsubpu;
angbusold[i]:=angsub;
vrbuspuold[i]:=1;
vxbuspuold[i]:=0;
end;
clrser;

P1: { FIND PER UNIT LOAD CURRENT AT EACH BUS 1}
for i:=1 to n do
begin
puir[i]:=(pup[ij*cos(angbusold[i])ipuq[i]tsin(angbusold[i]))/vbuspuold[i];
puix[i]::(pup[i]*sin{angbusold[i])-puq{iI*cos(anghuscld[i]))!vbuspuold[i];
end;

{ CORRECT PER UNIT LOAD CURRENT AT BUS THAT HAVE CAPACITOR }
for i:=1 to n do
begin

puirc[i]:=puir[i];

puixc[i]:=puix[i];

end;
for i:=1 to nc do
begin
icrpufi]:= -kvarcpu[i]*vbuspuold[busc[i]]*sin(angbusold{busc[i]]);

icxpu[i]:= +kvarcpu[i]*vbuspuold[busc{i]]*cns(angbusold[busc[i]]];
puirc[busc[i]]:=puirc[busc{i]]—kvarcpu{i]*vbuspuold(busc[i}]*sin(angbusold[busc[i]]);

puixe[busc[i]]::puixc[busc[i]]+kvarcpu[i]*vbuspuold[busc[i]]*cos(angbusold[busc[i]]J:
end;

{ FIND LINE CURRENT }
for i:=1 to n do

begin
puilrti}::ﬁ;
puilx(i):=0;
end;

for i:=1 to n do

for j:=1 to i do

begin
puilr(i]):=puilr[il+puirc[j];
puilx(i]:=puilx(i)+puixec[j];

end; ;

{ FIND NEW BUS VOLTAGE Vr+jvx }
vrhuspunew[n]::vsubpu—(puilr[n]*pur[n]-puilx[n]*pux[n]);



vxbuspunew[n]:=~{(puilr[n]*pux[n)+puilx[n]*pur(n]);
for i:=n-1 downto 1 do
begin

vrbuspunew([i]:=vrbuspuold[i+1l]-(puilr[i]*pur[i]-puilx{il*pux[i]);

vxbuspunew[i]:=vxbuspuold{i+1l]-(puilr(i]=*pux[i)+puilx(i]*pur(il]);

_end;
clrscr;

{ FIND NEW BUS VOLTAGE AND ANGLE }

for i:=1 to n do

begin
vbuspunew[i]:=sqgrt{sqr(vrbuspunew[i])+sgr(vxbuspunew[i]));
angbusnew[i]:=arctan(vxbuspunew([i]/vrbuspunew([i]);

end;

{ FIND DIFFERENCE OF NEW AND OLD ITERATION }
for i:=1 to n do

delta{i]:=abs{vbuspuold[i]-vbuspunew[i]);

{ FIND MAXIMUM DIFFERENCE }
vdiffmax:=delta[l];
for i:=2 to n do
begin
if vdiffmax < delta[i] then
vdiffmax:=delta[i];
end;
while vdiffmax > 0.0001 do
begin
for i:=1 to n do
begin
vbuspuold[i]:=vbuspunew[i];
angbusold[i]:=angbusnew([i];
vrbuspuold[i]:=vrbuspunew[i];
vxbuspuold[i]:=vxbuspunew[i];
end;
gotoxy (27,10);
writeln('<< Load Flow Iteration »>’);
goto P1;
end;
end,

{x;:xxxxxxx*xxxx::xa*xxx**x*s*]
{* PRINT RESULT OF LOAD FLOW *}
{X*t*******t*****x**x* EEEEEEER }
Procedure ploadflow(var n:integer;

var vbuspunew,angbusnew:matric);
var i:integer;

begin

clrser;

writeln(’ 30 405K 2 K K K K KK K K KR KK ys
writeln(’ * RESULT OF LOAD FLOW * iy
writeln(’ EXKEERKREEERRRERR R R T KKK 15
writeln;

writeln(’ Vossls Rt e I R JE e, 1y
writeln(’ i BUS | PU VOLT | PU ANG  |’);
writeln(’ T, R ——— PP, 11y,
for i:=1 to n do

writeln(’ 1 i:3,' !?,vbuspunew[i]:12:8,’ }’,angbusnew[i]:12:8,’

writeln(' — leeee- [ U S S S .

V)



end;

I

{* PRINT LINE FLOW *}
{FrrExkr R RLER XS }
Procedure plineflow(var n:integer;

var puilr,puilx:matric);
var i!integer;

begin
clrser;”
writeln(' FEREETIIENEERESR

writeln(’ * LINC

TLOW *
writeln(’ KRR
writeln;

writeln(’ PGS

writeln(’

-
"

1
writeln('’ T e
for i:=1 to n do
writeln(’

',puilx[i}:1278,?
writeln(?’

end;

{t**xm*********i*ttit*tt}
{ SUBPROGRAM FIND Fq(X) )
{x:x;:xms:s;x:t***tx****}
Procedure findfgx(var n:integer;
var angbusnew,puix,fgximatric);

var i,j:integer;

sumangle:real;

product:matric;

begin
sumangle:=0;
for i:=1 to n do
sumangle:-sumangle+sin(angbusnew([i]);

sumangle:=sumangle/n;

for i:=1 to n do
product(i]:=-(sumangle*puix[i]fsin(angbusnew([i])}};

for i:=1 to n do
fqx[i]:=0;

for i:=1 to n do

to i do

fgx[i]:=fgx[i]+product(j];
end;

for j:=1

{xx*xzxx*txt::xx}
{* PRINT Fqg(X) *}
{*ExxrreerexEREs}
Procedure pfgx(var n:integer;
normal ,snormal, fgx:matric);
var i:integer;

begin
clrscer;
writeln(’ KK K KKK KKK KK
writeln(’ * TABLE OF Fg(X) *

writeln(’ A K KA KKK

writeln;

10,43, =1, i¥1:3,° ' ,puilr[i]:12:8,

12

1
');
')
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writelnt' ittt it e e i 1
writeln(’ 4 NORMALIZED DISTANCE X Fq(X) i i
writeln(’ OO bem e m e trys
for i:=1 to n-1 do

writeln(’ ',snormal(i]:11:8,' - ’',snormal[i+1]:10:8§,

Pyt fax[i]:14:10,7 7))
t',snormal{n):11:8,’ - 0.00000000 ;°*
fgx([n]:14:10," {');

writeln(’

i )

writeln(’ e T T S
writeln;
writeln(’ <{< Press Any Key To Continue »>>> L i
readln;

end;

{tt#ttt##***t*xtxt*xt*]
{ SUBPROGRAM FIND Icqg }
{XXX!XX***!**K:X******}
Procedure findicqg(var nc:integer;
var a:matrix);
var k,l,m,t,p:integer;
riireal;

begin
m:=nc+l;

for i:=1 to nc do

begin
if a[i,i]=0 then
begin
for k:=i+l to nc do
begin
if a[k,i] < 0 then
begin
for 1:=1 to m do
begin

ri:=a[i,l]};
afi,1]):=a(k,1];
alk,1]):=ri;
end;
end;
end;
end;
if afi,i] <» 1 then
begin
ri:=1/ali,i);
for t:=i to m do
ali,t]:=ali,t]*ri;

end;

for p:=1 to nc do

begin
if (p<»i) and (al[p,1]1¢>0.0) then
begin

ri:=alp,i];
for t:=i to m do
a[p,t]:=a[p,t]-a[i,t]*ri;
end;
end;
end;
end;

[FEFEEFEEEEETEXXEXXXKRXEEXERXRER KK KRR KRR )
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{ SUBPROGRAM B: FIND Hi WHEN KNOWN Icq }
{t!:ﬂ AR AL TR R LA X R R TR EETEXEXXEEERREE X }
Procedure findh(var n,nc:integer;
var ficq,fqx,snormal:matric;
var optbus:matint);
var i,j:integer;

begin
for i:=1 to nc do
for j:=1 to n-1 do
begin
if ficq[i]<fqx[1l] then
optbus[i]:=1
else
if (ficqli]>fgx[j]l) and (fieq[il<fgx[j+1]) then
optbhus[i]:=j+1;
end;
end;

{xtl**t*##*# EEXXXX XXX XEEXREEXXXEESE }
{ WRITE OPTIMUM SIZE AND LOCATION }
{***xxxxxxxxxx:xxxzx*x*xx*xmxxxxxx}
Procedure presult(var optbus:matint;
var nc:integer;
var kvarcpu:matric;
var sum:matric);

var K:matric;
begin;
for i:=1 to nc do

k[i]:=kvarcpul[i]*sum[4];

clrscr;

writeln(’ A AKE A K AKX AR A KK KKK KKK ) ¢
writeln(’ * OPTIMUM SIZE AND LOCATION *');
writeln(’ e e TR
writeln;

writeln(’ et it e R el L R e S v
writeln(’ \ BUS |  OPTIMUM KVAR OF CAPACITOR !');
writeln(’ R e e tay.

for i:=1 to nc do
begin
writeln(' y',optbus(i1]:3," ',k[i]:20:10,

writeln(’ S . 11y,
end;
writeln;
writeln(’ <<< Press Any Key To Continue 3>>> ');
readln;
end;

[xx#*:::xs*tx::xxax:x}

{* PRINT P&Q LOSSES ¥}

{xxzxx*x**tx::xxzxx**)

Procedure pploss(n:integer;
plosspb,plossp,dplossp,plosgb,plosq,dplossqg,costce,
costpl,totalcost:real);

begin
clrscr;

writeln(’ : EEEEEEEERA LI R LA LT LR RS 1yl



writeln(’
writeln(’
writeln;

writeln(’
writeln(’
writeln(’
writeln(’
writeln(' 1=
writeln(' !

writeln(’ -
writeln(’ H

writeln(’ ‘-
writeln(’ ¥
writeln(’ V-
writeln(’ 5
writeln(’ A
writelo(’ .
writeln(’ V-
writeln;

writeln(’

readln;

end;

{xtzx:****xzxtsx:x:xxx:

{* FIND POWER DUE TO Q-

{:xzx:xx*xxtt*t*::*****

* TABLE OF POWER LOSSES x* e i

TEEXXFTEXLTXIIXIT XXX NRESL S ‘);

After

. Before : :

! Installed \ Installed | Reduction '),
; ; *

'

Losses o

Capacitor Capacitor {(kw/kvar) ');

P Loss
dplossp:11:2,' ’);

',plosspb:9:2,’' |’',plossp:9:2,’' !

Q Loss |',plosgb:%:2,' |’,plosq:5:2,' }’
dplossq:11:2,' !');

Capacitor Cost (§) i!,coste: 111, ¢
----------------------------- ettt )
Power Loss Cost (%) v',costpl:1l:1,’
------------------------------- e A P
Objective Function (§) V' ,totalcost:11:1,"'
-------------------------- e T el TH
<<< Press any Key To Continue »>> XY

:tx*x:}

AXIS =}

xxxtx*)

Procedure pgaxis{var nc,n:integer;

var Sso

pticq,opticq,snormal ,fgx:matric;

var optbus:matint;

var pl
var i,j:integer;
begin
for i:=1 to nc do
sopticg[i]:=0;
for i:=1 to nc do
for j:=1 to i do
sopticg[i]:=sopticqg[i]
plq:=0;
snormal[n+1]:=0;
for i:=n downto optbus|
begin
plg:=plg+(snormal[i]-
end;
m:=nc;
for i:=nc-1 downto 1 do
begin

q:real);

topticqljl;

nc] do

snormal[i+1] )*sqr(fqx[i]l-sopticaqlnec]);

for j:=optbus[m]-1 downto optbus[i] do

plg:=plqg+(snormal[j
m:=m-1;
end;
i1f optbus[1] <> 1 then
begin
i:zoptbus[1]-1;
for j:=i downto 1 do
plg:=plg+sqr(fax[j]
end;
plg:=3*r*plg*sum({4];
end;

]-snormal(j+1])*sqr(faqx[j]-sopticq(i]);

)*(snormal[ j]-snormal(j+1]);

HES
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205K T 0 0 0 3 08 08 S8 oF S S S D SO K K T O 3 O O N O O 0K O O R K KK K O KK KRR }

{:«*:'<*******X*tltt*:ﬁtt**tt!** *_**:x}

{ MAIN PROGRAM OPT.PAS }
{‘13 EXEERERE AKX LN RS }
begin

clrscr;

beep;

{ PRINT TITLE }
ptitle;

{ GETTING INPUT DATA }

clrscr;

gotoxy(20,8);writeln( 'NUMBER OF BUSES = ');
gotoxy(38,8);readln(n);
gotoxy(20,9);writeln('VOLTAGE AT SUBSTATION IS - ');
gotoxy(52,9);writeln(’KV’);
gotoxy(48,9);readln(vsub);

gotoxy(20,10);writeln(’DO YOU WANT TO CET DATL FROM '),

gotoxy(20,11);writeln(’l) DATA FILES');

gotoxy(20,12);writeln(’2) INPUT DATA FROM KEYBOARD');

gotoxy(20,13);writeln(’'(TYPE 1 OR 2) =======) ');
x6:gotoxy(43,13);readln(dfrom);
if dfrom<>1 then
if dfrom<>2 then
begin
beep;
gotoxy(20,14);

£

writeln(’ ERROR YOU MUST TYPE 1 OR 2 PRESS ANY KEY TO TRY AGAIN ');

readln;
gotoxy(20,14);
writeln('
gotoxy(20,13);writeln(’(TYPE 1 OR 2) ====z===> ');
goto X6;
end;
if dfrom=2 then goto X1;
XT7:clrscr;

{ GETTING INPUT DATA FROM DATA FILES }

{ RESIST.DAT & REAC.DAT & PHYL.DAT & KW.DAT & KVAR.DAT )
write(’DO YOU WANT TO CHANGE DATA IN DATA FILES (Y/N)? ');

readln(yes);
if ves ¢> 'Y' then
if yes <> 'N' then
if yes <> 'y' then
if yes <> 'n' then
begin

beep;

writeln(’ ERROR YOU MUST TYPE Y/N PRESS ANY KEY TO TRY AGAIN ’);

readln;
goto X7;
end;
if (yes = 'Y') or (yes = 'y') then

{ CHANGE DATA IN DATA FILES )}
begin

12¢



writeln('DATA FILES THAT YOU CAN CHANGE IS ');
writeln('l) RESIST.DAT');
writeln('2) REACT.DAT');
writeln(’3) PHYL.DAT');
writeln(’4) KW.DAT’);
writeln('5) KVAR.DAT');
write('TYPE 4 FILE NAME THAT YOU WANT TO CHANGE ==:=>
X2: readln(name);
assign(filevar,name);
rewrite(filevar);
for i:= 1 to n do
begin
write('INPUT ’,name,’ NUMBER (’',i,’) = ');
readln(value[i]);
write(filevar,value[i]);
end;
close(filevar);
write('DO YOU WANT TO CHANGE ANOTHER FILES (Y/N)? ');
readln(yes);
if (ves = 'Y') or (yes = 'y’) then
begin
writeln('DATA FILES THAT YOU CAN CHANGE 1S ’);
writeln('l) RESIST.DAT');
writeln('2) REACT.DAT’);
writeln('3) PHYL.DAT’);
writeln('4) KW.DAT’);
writeln('5) KVAR.DAT’);

write('TYPE A FILE NAME THAT YOU WANT TO CHANGE ===>

goto X2,
end;
end;

READ DATA FROM DATA FILES }
assign(filevar,’'resist.dat’);
reset(filevar);

for i:= 1 to filesize(filevar) do
read(filevar,resist[i]);
close(filevar);
assign(filevar,’'react.dat’);
reset(filevar);

for i:= 1 to filesize(filevar) do
read(filevar,react[i]);
close(filevar);
assign(filevar,’'phyl.dat’);
reset(filevar);

for ii= 1 to filesize(filevar) do
read(filevar,phyl[i]);
close(filevar);
assign(filevar,’'kw.dat');
reset(filevar);

for i:= 1 to filesize(filevar) do
read(filevar,kw[i]);
close(filevar);

assign(filevar, 'kvar.dat’);
reset(filevar);

for i:= 1 to filesize(filevar) do
read(filevar,kvar(i]);
close(filevar);

goto X3;

5 i



{ INPUT DATA FROM KEYBOARD }

X1: clrscr:

writeln('THE FIRST BUS IS AT THE END OF FPEEDER’);

for i:=1 to n do

begin
writeln(’f*** BUS NUMBER (’,1,%)’,' =*x=x='};
write( "RESISTANCE IN OHM/MILES = ');readln(resist[i]);
write( 'REACTANCE IN OHM/MILES = ’);readln{react[i]);

write('LENGTH IN MILES = ');readln(phyl[i]);
write('THREE PHASE KILOWATT LOAD = ');readln(kw([i]);
write(’THREE PHASE KILOVAR LOAD - ');readln(kvar[ii);
writeln;

end;

{ FIND MAXIMUM KVAR }
X3: maxkvar(l]:=kvar(1];
bkvarmax:=1; {find maximum kvar bus}
for i:=2 to n do
if maxkvar{l]<kvar[i] then
begin
maxkvar[l]:=kvar(i];
bkvarmax:=1i;

end;

{ PIND SUMMATION OF DATA OF FEEDER )}
suml2345(n,sum,phyl,eqil,resist,normal,kvar, kw,bkvarmax);

{ WRITE RESULT FROM CALCULATION }
psuml2345(n,resist,phyl,eqil,normal, kw,kvar,sum);
beep;

{ FIND BUS TO BUS RESISTANCES }
for i:= 1 to n do
rohm{i]:=resist[i]*phyl([i];

{ FIND BUS TO BUS REACTANCES }
for i:= 1 to n do
xohm[i]:=react[i]*phyl[i];

{ WRITE R & X BETWEEN BUS }
prx(n,rohm,xohm) ;
beep;

{ NORMALIZED EQUIVALENT DISTANCE H(X) }
for i:= 1 to n do
h{i]:=0.0;
for i:= 1 to n do
for j:= i to n do
h{i]:=h[i]+normal[j];

{ REAL DISTANCE OF BUS FROM SUBSTATION }
for i:= 1 to n do
rdist[i]:=0.0;
for i:= 1 to n do
for j:= i to n do
rdist[i]:=rdist[i]+phyl([j];

{ SUM OF NORMALIZED DISTANCES }
for i:=1 to n do
snormal(i]:=0;
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for i:=1 to n do
for j:=n downto i do

snormal(i]:=snormal(i]+normal[j];

{ WRITE NORMALIZED & REAL DISTANCE }
pdistance(n,h,rdist);
beep;

{ FIND BASE IN THIS PROGRAM )
basez:i=sqr(vsub)*1000/sum[4];
basei:=sum[4]/(sgrt(3)*vsub);
aresist:=0.0;

for i:= 1 to n do
aresisti:-aresist+resist(i]*phyl[i];
r:zaresist/sum{2];

clrscr;

writeln( ' {(*FEfsssrxanierati ke ekerxrres]}’ ),

writeln(’{ BASE VALUE IN THIS PROBLEM }');

Kriteln('{Rxx:xxxtzxxxxx*tt*:x*x**#x**)');

writeln;

writeln( 'BASE VOLTAGE (KV) = ',vsub:l2:4);
writeln('BASE POWER (KVA) = ?,sum[4]:12:4);
writeln('BASE CURRENT (AMP) = ',basei:l2:4):
writeln('BASE IMPEDANCE (OHMS) = ',basez:12:4);
writeln;

writeln('RESISTANCE IN OHM/MILES OF EQUIVALENT UNIFORM FEEDER (r)

writeln;
writeln(’'<<< Press Any Key To Continue
readln;beep;

{ FIND PER UNIT P,Q,R,X FOR EACH BUS }

for i:=1 to n do

begin
pup[i]:=kw(i]/sum[4];
pugli]:=kvar[i]/sum[4];
pur{i]:=resist[i]=phyl[i]/basez;
pux[i]:=react(i]*phyl[i]/basez;

end;

{ FIND PER UNIT RESISTANCES }
for i:=z1 to n do
begin
rpu[i]:=rohm{i] /basez;
xpuli]:=xohm[i]/basez;
end;

realpolar(n,rpu,xpu,zpu,zang);

{*¥*X!*xXS**xl*!****#**X*X*****l*#*##*‘**txtx*‘*KX*K**#*}

{ SUBPROGRAM RADIAL LOAD FLOW BEFORE INSTALL CAPACITORS }

{****R***z*ttKtttﬂ*t##***txtt:**t*t#t*#l*‘*tt**tt!t*x***]

{ SET SUBSTATION BUS VOLTAGE AND ANGLE }
vsubpu:=1;
angsub:=0;

{ SET INITIAL BUS VOLTAGE AND ANGLE }

for i:=1 to n do

begin
vbuspuold[i]:=vsubpu;
angbusold[i]:=angsub;
vrbuspuold([i]:=1;

3 LIS
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vxbuspuold[i]:=0;
end;

{ FIND RADIAL LOAD FLOW }

loadflow(n,vbuspuold,angbusold, pup,puq,puir,puix,
puilr,puilx,pur,pux,vrbuspuold.vxbuépuold,
vrbuspunew, vkbuspunew, vbuspunew,angbusnew,

vsubpu);

{ PRINT LOAD FLOW }
ploadflcw{n,vbuspuﬂew.angbusuew);

wrirteln;

writeln(’ This is Load Flow Before Install Capacitors’);
vriteln;

writeln(’ <<< Press Any Key To Continue »>)')};

readln;beep;

{ PRINT LINE FLOW }
plineflow(n,puilr,puilx);

writeln;
-writeln(’ This is Line Flow Before Install Capacitors’);
writeln;
writeln(’ <<< Press Any Key To Continue »»>> L I

readln;beep;

{t**tx**xltt!t****t##!tnx*xtxt**xti#xt*******##* 1
{* PIND POWER LOSSES BEFORE INSTALL CAPACITORS *}
{2* EEE R E 22 22 EE SRR SR S EEFR L R T ]
clrscr;

for i:=1 to n do

begin
dvr[i]:=0;
dvx[i]:=0;
end;

{ FIND DIFFERENT BUS VOLTAGE }

for i:=1 to n-1 do

begin
dvr[i]:=vrbuspunew[i]-vrbuspunew[i+1];
dvx[i]:=vxbuspunew[i]-vxbuspunew[i+l];

end;

dvr[n]:=vrbuspunew[n]-1;

dvx[n]:=vxbuspunew[n];

realpolar(n,dvr,dvx,dv,dang);

{ FIND POWER FLOW FROM P TO Q }

for i:=1 to n do

begin
spg[i]:=vbuspunew([i]*dv([i]/zpul[i];
sangpq[i]:=-angbusnew[i]+dang[i]-zang[i];

end;

for i:=1 to n do

begin
dvr[i]:=-dvr[i];
dvx[i]:i=-dvx[i];

end;

realpolar(n,dvr,dvx,dv,dang);

{ PIND POWER FLOW FROM Q TO P )
sqp(n]:=dv[n]/zpu(n];



sanggp[n® . ‘=dang[n]-zang[n];
for i:=n--. downto 1 do

begin
sqp[il: -vbuspunew[i+1]*dv[i]/zpu[i];
sangqprLli::-angbusnew[i*1]+dang[i]_zang£i];
end;

{ FIND pvc:L & POLAR OF POWER FLOW ]

for i:=: o n do

begin
spqr([:*::=spqli)*cos(sangpq[i]);
spax[. :-=sPali]*sin(sangpq(i]};

sqpr[:°:'=sap[i]*cos(sanggp[i]);
sqpx([:::=sqpli)*sin(sangqp([i]};
end;

{ FIND n=-2L POWER LOSS }
plossp:
plosg:=1:
for i:=° o n do
begin
plossp'- -plossp-spqr([i];
plossn' =plossp+sqpr[i];
end;

{ PIND Ru.ACTIVE POWER LOSS }
for i:=, '@ n do
begin
plesq. Plosq-spax(i];
plosq: ~vlosqtsgpx[i];
end;
plosspb: - plossp¥sum(4];
plosgb: - viosg*¥sum[4];

{**K*X*mw¢xmt*xt*x*x**zttxtxt:xxt*xt*}
{ INpuT 'ALUE IN THE FIRST ITERATION }
{**txX,me*‘***t***t!*t*t*ttt*xt!*xt*}
{ INPUT =UMBER AND SIZE OF EACH CAPACITOR }
clrscr;
”riteln;-x***za*xxmmmx:m:xr*xtmz*xt**xx*xtxx**xx*xtxxx**xx**')'
writeln’ # INPUT DATA OF CAPACITORS IN THE FIRST ITERATION *'};
writeln’ &****t***xx*x=$*xtt*xxt*x¥x**xt#xt:*x*xt*xzxxr**x*t');
writeln.
writeln’ FACH CAPACITOR WILL BE INSTALLED AT EACH BUS”);
writeln’ 'THE FIRST BUS IS AT THE END OF THE FEEDER'’);
write( 'N/4BER OF INSTALLED CAPACITORS - i i
readln(n')iwriteln;
for i:=) 0 nc do
begin
writef ‘KVAR RATING OF CAPACITOR (LI S L
readln(kvarc[i]);
kvarcpulil:=kvarc(i]/sum(4];

writel 'THIS CAPACITOR WILL BE INSTALLED AT BUS NUMBER = *);
readlntbusc[i]);
writeln;

end;

X8:write: 'DO YOU WANT TO CHANGE DATA OF CAPACITOR (Y/N)? ');

i
readln(ves);
if ves - 'Y' then



if yes <» 'N' then
if yves <> 'y' then
if yes <> 'n' then
begin
beep;
writeln(’ BERROR YOU MUST TYPE Y OR N PLEASE TRY AGAIN ');
writeln;
goto X§&;
end;
if (ves = ’Y’) or (yes = 'y') then
begin z
write( 'CAPACITOR THAT YOU WILL CHANGE IS NUMBER = ’);
readln(i);
write('KVAR RATING OF CAPACITOR (',I,') = '};

readln(kvarc([i]);
kvarcpu[i]:=kvarc[i]/sum([4];
write('THIS CAPACITOR WILL BE INSTALLED AT BUS NUMBER = ');
readln(busc[i]);
writeln;
goto X5;
end;

{ INPUT COST OF CAPACITORS }
writeln(’INPUT CONSTANT COST COEFFICIENT OF CAPACITORS’);

write('ANNUAL COST PER UNIT OF POWER LOSS IN S/KW/YR (Kp) = ');

readln(kp);

write( 'ANNUAL COST PER UNIT OF INSTALLED CAPACITOR IN $/KVAR 3 PHASE (Kc) = '};
readln(kec);

beep;

{xxx*xxxxxxxtatxxxx:xx*xxxx:xx*x:xxtxxzxxttxztxzx*xxm##}

{ SUBPROGRAM RADIAL LOAD FLOW AFTER INSTALL CAPACITORS }

{*XK¥¥¥X!X*XXXXKXXX**!“!*’=K‘thx!t!l‘t*x!xl3**#**3‘**}

{ FIND RADIAL LOAD FLOW }

X5: cloadflow(n,nc,vbuspuold,angbusold,pup,pug,puir,puix,
puilr,puilx,pur,pux,vrbuspuold,vxbuspuold,
vrbuspunew, vxbuspunew,vbuspunew,angbusnew,

kvarcpu,puirc,puixc, icrpu, icxpu,busc,

vsubpu);
clrscr;
gotoxy(28,10);
writeln('Pass.......Load Flow');
beep;

[F*EXXXEXXEXEEXERR LR LR ]

{ SUBPROGRAM FIND Fq(X) }

AR AR AR R AORE )

{ FIND Fq(X) }
findfgx(n,angbusnew,puix,fgx);
gotoxy(28,11);
writeln('Pass....... Find Fq(x)');beep;
for i:=1 to nc do

buscold[i]:=busc[i];

{Xxx**t*#*x!*!***‘*3***1*!1!1!‘**3****‘#}

{ SUBPROGRAM A: FIND Icq WHEN KNOWN Hi }
{**xm#xmssxsss:xtxxxxxxsxzxxx:t#:xzxxxsx]



{ INPUT H MATRIC }
X4: for i:=1 to nc do
for j:=1 to nc do
begin
if i»=j then
hematric[i,j]l:=snormal[busc[i]]
else
hematric[i, j]l:=snormal[busc[jl];
end;

{ FIND INTEGRATED OF Fqg(X)dx )
for i:=1 to nc do
int[i]:=0;
snormal[n+1]:=0;
for i:=1 to nc do
for j:=busc[i] to n do

int{i]:=int[i]+fgx[jl*(snormal[j]l-snormal[j+1]);

{ PIND INTEGRATED AND COST MATRIC }

ki=kc/(2*%r*kp);

for i:=1 to nc do
int[i]:=int[i]-k/(vbuspunew[busc[i]]*cos(angbusnew(busc[i]]));

{ FORM NC*(NC+1) MATRIC POR FIND lcqg }
for i:=1 to nc do
begin
for j:=1 to nc do
ali,j]:=hcmatric[i,Jjl;
ali,nc+l]:=int[i];
end;

{ FIND Icq(i) }

findicq(nc,a);

for 1:=1 to nc do

opticg[i):=a[i,nc+l];

gotoxy(28,12});

writeln(’Pass..... ..Subprogram A’);beep;

{#*tt#*******x.‘ttt**** kEEREEX t*x**’**ttt}
{ SUBPROGRAM B: FIND Hi WHEN KNOWN Icqg }
{FEELXEXTXXRXLXXEARK KR LKL RIRE R LKEERF |
{ FIND 1/2*Icq + SIGMA Icqg REST }
for i:=1 to nc do
ficq[i]:=opticg{i]/2;
for i:=2 to nc do
for j:=1 to i-1 do
ficg[i]):=ficqli]+opticalj];

{ FIND Hi }
findh(n,nc,ficq,fqx,snormal ,optbus);
gotoxy(28,13);

writeln('Pass....... Subprogram B');beep;

{ COMPARE OPTIMUM BUS FOR CONVYERGENCE }
for i:=1 to nc do
begin
if optbus[i]<»busc[i] then
begin
for i:=1 to nc do
busc[i]:=optbus[i];
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goto X4,
end;
end;

{tt!xlt—** AN KA LR AT LE XTI L AR RN EAL XL T XIS }
{ COMPARE RESULT OF OPTIMUM BUS AND CURRENT OF CAPACITORS }
{ AR AR R R R A F R LRI EA R LR E R R XTI AL R R }
{ COMPARE OPTIMUM BUS OF EACH CAPACITOR }
for 1:=1 to nc do
begin
if optbus[i]<>buscold[i] then
fEegin
for i:=1 to nc do
begin
buscold(i]:=optbus{i];
kvarcpu[i]:=opticq[i]/(vbuspunew{optbus[i]]*cos(angbusnew[optbus(i]]));
end;
gotoxy(28,14);
writeln( 'Not Pass...Compare Bus'’);beep;
goto X5;
end;
gotoxy(28,14);
writeln(’'Pass....... Compare Bus');beep;
end;

{ COMPARE OPTIMUM CAPACITOR CURRENT }
for i:=z1 to nc do
diffic{i]:=opticg[i]-iexpuli];
difficmax:=diffic[1];
for i:=2 to nc do
begin
if difficmax<diffic[i] then
difficmax:=diffic[i];

end;
if abs(difficmax) » 0.00001 then
begin
for i:=1 to nc do
begin
buscold[i]:-optbus{i];
kvarcpu[i]:=opticg[i]/{vbuspunew[optbus[i]]*cos(angbusnew[optbus{il]));
end;
gotoxy(28,15);
writeln('Not Pass...Compare Current’);beep;
goto x5;
end;
gotoxy(28,15);
writeln(’'Pass....... Compare Current’);beep;
beep;

{ PRINT LOADFLOW }
ploadflow(n,vbuspunew,angbusnew);

writeln;
writeln(’ LoadFlow After Install Capacitor ’);
writeln;
writeln(’ << Press Any Key to Continue »>> ');

readln; beep;

{ PRINT LINE FLOW }
plineflow(n,puilr,puilx);
writeln;
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writeln(’ LineFlow After Install Capacitor
writeln;

writeln(’ << Press Any Key to Continue >>
readln; beep;

{ PRIKRT Faqf{x) }

pfax(n,normal,snormal,fqgx);beep;

{ PRINT RESULT }
presult(optbus,nc,kvarcpu,sum),;
beep;

AR KKK AR A KA A A E AR AR AT KA |
{ FIND POWER LOSS AFTER INSTALL CAPACITORS }
{zxxx*xmmtxmx*xxzxxxx*x:x:xt::x:xx*xzx*kx:x]
{ SET DIFFERENT VOLTAGE }

for i:=1 to n do

begin
dvr[i]:=0;
dvx[i]:=0;
end;

{ FIND DIFFERENT BUS VOLTAGE }

for i:=1 to n-1 do

begin—
dvr[i]:=vrbuspunew(i]-vrbuspunew[i+1l];
dvx[i]:=vxbuspunew[i]-vxbuspunew[i+l];

end;

dvr[n]:=vrbuspunew[n]-1;

dvx[n]:=vxbuspunew[n];

realpolar(n,dvr,dvx,dv,dang);

{ FIND POWER FLOW FROM P TO Q }
for i:=1 to n do
begin
spa[i]:=vbuspunew[i]*dv([i]/zpu[i];
sangpq[i]:=-angbusnew([i]+dang[i]-zang[i];
end;

{ FIND POWER FLOW FROM Q TO P }
for i:=1 to n do
begin
dvr{i]:=-dvr[i];
dvx[i]:=-dvx[i];
end;
realpolar(n,dvr,dvx,dv,dang);
sgp[n]i=dv[n]/zpuln];
sangqp[n]:=dang[n]-zang([n];
for i:=n-1 downto 1 do
begin
sqp[i]:=vbuspunew[i+1]*dv([i]/zpu[i];
sangqp[i]:=-angbusnew[i+1l]+dang[i]-zang[i];
end;

{ FPIND REAL & REACTIVE POWER FLOW }

for i:=1 to n do

begin
spqgr(i]:=spg[il*cos(sangpalil);
spax(i]:=spq[il*sin(sangpql[i]);
sgpr(i]:=sqp[i]*cos(sanggp[i]);

")



sqpx[i]:=sgp[i]*sin(sangqgp[i]);
end;

{ SET POWER LOSS }

for i:z1 to n do

begin ’
plossp:=0;
plosq:=0;

end;

{ FIND REAL POWER LOSS }

for i:=1 to n do

begin
plossp:=plossp-spgr{i];
plossp:=plossp+sqpr([i];

end;

{ FIND REACTIVE POWER LOSS }
for i:=1 to n do
begin
plosq:=plosg-spgx[i];
plosq:=plosg+sgpx[i];
end;
plossp:=plossp*sum[4];
plosq:=-plosq*sum{4];

{ FIND DIFFERENT OF POWER LOSS }
dplossp:=abs(plosspb-plossp);
dplossq:=abs(plosgb-plosq);

{ FIND MINIMIZE COST FUNCTION }
totalcost:=0;costc:=0;costpl:=0;
for i:=1 to nc do
costc:=costc+kvarcpul[il];
costc:=costc*kc*sum([4];
costpl:=kp*abs(plossp);
totalcost:=costc+costpl;

{ WRITE RESULT OF POWER LOSS )} *
pploss(n,plosspb,ploasp,dplossp,plosgb,plosq,
dplossq,costc,costpl,totalcost);

beep;

{FFEREXRREXREE LT XXX R RIK L L X LR RRRR LR TR R R TKK ]
{* FIND LOCATION OF COMMERCIAL RATINC CAPACITOR *}
{HERKERREXRL KKK KR LR KA KA EH ALK KA F AR T KKK ]
{ SPECIFY COMMERCIAL RATING OF EACH CAPACITOR }
X1l:clrscr;
Writeln( ' EEXErEr X kNN R RLLRLLEXLRERLEELREXERLLRRLXRRLRRR T ) o
writeln('* FIND OPTIMUM LOCATION OF COMMERCIAL CAPACITOR *');.
Wrilteln(  FREErrr R R RO R OO R R O R ek T )
writeln;
writeln(’RATING OF OPTIMUM CAPACITOR SOMETIME DID NOT COMMERCIAL RATING’);
writeln(’THEREFORE YOU MUST SPECIFY RATING OF THOSE CAPACITORS IN THE');
writeln(’COMMERCIAL RATING AND THEN THE RESULT WILL BE THE OPTIMUM’),;
writeln('LOCATION OF COMMERCIAL RATING OF CAPACITOR');
writeln;
for i:=z1 to nc do
begin
write('COMMERCIAL KVAR OF CAPACITOR (',I,') = ");
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readln(kvarc([i]);
kvarcpu(i]:=kvarc[i]/sum{4];
write('THIS CAPACITOR WILL BE INSTALLED AT BUS NUMBER = ');
readln(busc(i]);writeln;
end; beep;

{zxxx:x:mxrwmmxxztxxxxtx:x:x:tttxtxzt**#x:*t:xxx*xax**x}
{ SUBPROGRAM RADIAL LOAD FLOW AFTER INSTALL CAPACITORS }
{xxxxxxzxxxx:xxx*:x:atzxxxx*t*:x*:*x:x:xxxxxzxxxxxtxxxx}
{ PIND RADIAL LOAD FLOW }
X9:cloadflow(n,nc,vbuspuold,angbusold, pup, pug,puir,puix,
puilr,puilx,pur,pux,vrbuspuold,vxbuspuold,
vrbuspunew ,vxbuspunew,vbuspunew ,angbusney,

kvarcpu,puirc,puixc, icrpu,icxpu, busc,

vsubpu);
clrscr;
gotoxy(28,10);
writeln(’Pass.... ... Load Flow');beep;

{x*xx:x*xx*xxxxm*x:x*x*x}

{ SUBPROGRAM FIND Fq(X) }

{**tx#*********t#*t*tlx!]

{ PIND Fg(X) }
findfgx(n,angbusnew,puix, fqx);
gotoxy(28,11);
writeln('Pass....... Find Fq(x)’);beep;
for i:=1 to nc do

buscold[i]:=busc[i];

{xm*xtxx**xtxxxxxt*::x*****:ttt:m:**t*xw]

{ SUBPROGRAM A: FIND Icq WHEN KNOWN Hi }

{*rlet*tx*t*tttt****#*ﬂ*z************t*}

for i:=1 to nc do
opticg[i]:=kvarcpu[i]*vbuspunew[busc[i]]#*cos(angbusnew[busc[i]]);

gotoxy(28,12),

vwriteln(’'Pass....... Subprogram A');beep;

{¥¥X=*t*!*XX**KX¥¥X’##!*S¥*!#*tttt$¥*t¥}
{ SUBPROGRAM B: FIND Hi WHEN KNOWN Icq }
{zxxxxxxtxxxxaxaxxxxxx::x*x*x*xttx:*x:m)
{ FIND 1/2%¥Icq + SIGMA Icq REST.}
for i:=1 to nc do
ficg{i):-opticqli]/2;
for i:=2 to nc do
for j:=1 to i-1 do
ficg[i]l:=ficqg[i]l+opticqlj];

{ FIND Hi }
findh(n,nc,ficq,fqx,snormal,optbus});
gotoxy(28,13);
writeln(’Pass.......Subprogram B');beep;

{:*xxzxt:tzt*-*** }
{ COMPARE RESULT OF OPTIMUM BUS }
{zx::xxt*x#xmx*x**xzs:::xz:xzxxx}
{ COMPARE OPTIMUM BUS OF EACH CAPACITOR }
for i:=1 to nc do
begin

if optbus[i]<>busc[i] then

begin
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for i:=1 to nc do
busc[i]:=optbus[i];
goto X9;
end;

end;

{ PRINT LOADFLOW }
ploadflow(n,vbuspunew,angbusnew),

writeln;
writeln(’ LoadFlow After Install Capacitor ');
writeln;
writeln(’ <¢ Press Any Key to Continue >> ');

readln;beep;

{ PRINT LINE FLOW }

plineflow(n,puilr,puilx);

writeln;
writeln(’ LineFlow After Install Capacitor ’);
writeln;
writeln(’ <¢ Press Any Key to Continue >»> ');

readln;beep;

{ PRINT Fq(x) }

pfgx(n,normal,snormal, fqx);beep;

{ PRINT RESULT }
presult(optbus,nc,kvarcpu,sum);
beep;

{mxt*xmxx:xmxxx*xxmx*xxxxmxt**t#x:**x#x:mta}
{ FIND POWER LOSS AFTER INSTALL CAPACITORS }
R e Lt
{ SET DIFFERENT VOLTAGE }

for i:=1 to n do

begin
dvr[i]:=0;
dvx[il:=0;
end;

{ FIND DIFFERENT BUS VOLTAGE }

for i:=1 to n-1 do

begin
dvr[i]:=vrbuspunew[i}-vrbuspunew[i+1];
dvx[i]:=vxbuspunew[i]-vxbuspunew[i+1];

end;

dvr[n]:=vrbuspunew[n]-1;

dvx[n]:=vxbuspunew[n];

realpolar(n,dvr,dvx,dv,dang);

{ FIND POWER FLOW FROM P TO Q )
for i:=1 to n do
begin
spg[i]:=vbuspunew[i]*dv[i]/zpu[i];
sangpg[i]:=-angbusnew[i]+dang[i]-zang[i];
end;

{ FIND POWER FLOW FROM Q TO P }
for i:=1 to n do
begin

dvr[i]:=-dvr[i];



dvx[i]:=-dvx[i];
end;
realpolar(n,dvr,dvx,dv,dang);
sqp(n]:=dv[nl/zpuln];
sanggp(n]:=dang(n]-zang[n];
for i:=n-1 downto 1 do
begin
sqp({i]:=vbuspunew[i+1l]*dv[i]/zpu[i];
sangqgpli):=-angbusnew[i+1l]+dang[i]-zang[i];
end;

{ FIND REAL & REACTIVE POWER FLOW }

for i:=1 to n do

begin
spar[i]:=spg[i)*cosisangpalil);
spqx[i]:=spglil*sin(sangpq[i]);
sqpr(il:=sgplil]*cos(sangqgp[i]);
sqpx[i):=sqplil*sin(sangqgp[il]);

end;

{ SET POWER LOSS }
for i:=1 to n do
begin
plossp:=0;
plosq:=0;
end;

{ FIND REAL POWER LOSS }

for i:=1 to n do

begin
plossp:=plossp-spgr{i];
plossp:=plossp+sqpr[i];

end;

{ FIND REACTIVE POWER LOSS }
for ii=1 to n do
begin
plosq:=plosg-spgx[i];
plosq:=plosqg+sgpx(i];
end;
plossp:=plossp*sum(4];
plosg:=plosg*sum[4];

{ FIND DIFFERENT OF POWER LOSS }
dplossp:=abs(plosspb~plossp);
dplossq:=abs(plosgb-plosq);

{ FIND MINIMIZE COST FUNCTION }
totalcost:=0;costc:=0;costpl:=0;
for i:=1 to nc do
costc:=costc+kvarcpu(i];
costc:=costc*ke*sum([4];
costpl:=kp*abs(plossp);
totalcost:=costc+costpl;

{ WRITE RESULT OF POWER LOSS )}
pploss(n,plosspb,plossp,dplossp,plosgb,plosqg,
dplossq,costc,costpl,totalcost);

beep;

L
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{ TRY ANOTHER SIZE ]}
X10:clrscr,
write('DO YOU WANT TO TRY ANOTHER COMMERCIAL RATING (Y/N)T ');
readln{yes);
if yes <> 'y' then
if yes <> 'n' then
if ves <» 'Y' then
if yes <> 'N' then
begin
beep;
writeln(’ ERROR PLEASE TYPE Y/N ’);
goto X10;
end;
if (ves='y') or (yes='Y')then
goto X11;
clrscr;
gotoxy(21,13);
writeln{' THIS IS THE END OF PROGRAM '),
beep; beep;beep;
END.



OIAHUIN o

Program Optimum_Size_and_Location_Of Capacitors

(o e e }
{ 1
{ Program Opt.Pas 11 }
{ Find Optimum Size and Location 1
{ of 2, }
{ Capaciter in Distribution Svstem }
: }
(e )

useg dos,printer,crt,turbo3;

label ¥1,X2,%X3,X4,X5,%X6,%7,X8,X9,%1G;

type matrix=array{0..30,0..30] of real;

matric=array[0..30] of real;
matint=array[0..30] of integer;

var n,m,i,j,k,usinteger; {number of buses}

vsub:real; {substation voltage}

dfrom:integer; {data from)

resist:matric; {resistance in ohms per miles}

react:matric; {reactance in ohms per miles])

phyl:matric; {physical section lenght in miles]

egil:matric; {length of equivalent uniform feeder]

normal:matric; {normalized length}

kw:matric; {kv load at bus i}

kvar:matric; {kvar load at bus i}

maxkvar:matric; {maximum kvar load)

bkvarmax:integer; {maximum kvar bus}

sum:matric; {summation of 1:physical length }
{ 2:uniform feeder in miles}
{ 3:normalize feeder 3
{ 4:kvar load 1
{ 3:kw load }

snormal :matric; {sum of normalized uniform feeder)

ves:string(1l]; {answer ves or no}

filevar:file of real;{data files}

name:string[15]; {file name}

value:matric;

rohm:matric; {resistance in ohms}

xohm:matric; {reactance in ohms}

h:matric; {normalized bus distance from substation}

rdist:matric; {real distance from substation}

basez:real; {base impedance}

basei:real; {base current}

aresist:real; {all resistance in feeder)

r:real; {resistance in ohms/mile }

{of equivalent uniform feeder)
vsubpu:real; {per unit voltage at substation}
angsub:real; {angle of substation}
vbuspuold:matric; {per unit bus voltage old}



angbusold:matric;
vrbuspuold:matric;
vxbuspuold:matric;
vbuspunew:matric;
angbusnew:matric;
vrbuspunew:matric;
vxbuspunew:matric;
pup:matric;
pug:matric;
pur:matric;
puximatric;
puir:matric;
puix:matric;
puilr:matric;
puilx:imatric;
delta:matric;
vdiffmax:real;
fximatric;
nc:integer;
kvarcinput:matric;
kvarcold:matric;
kvarcnew:matric;
kvarcpuold:matric;
kvarcpunew:matric;

puirc:matric;
puixc:imatric;

buscold:matint;
buscnew:matint;
hcimatric;

kp:real;

ke:real;

hematric:imatrix;
icg:matric;
inti:matric;
amatrix;
opticq:matric;
ficg:matric;

opthus:matint;

icrpu:matric;
icxpu:matric;

diffic:matric;

difficmax:real;
sopticq:imatric;
sopticd:matric;
plossqg:real;
plossd:real;
plossbecireal;
p:real;
dvr:matric;
dvx:matric;
dv:matric;
dang:matric;

rpu:matric;

144

{angle of bus cld}

{real part of per unit bus voltage cld)
{imaginary part of per unit bus voltage old}
{per unit bus voltage new}

{angle of bus new}

{real part of per unit bus voltage new)}
{imaginary part of per unit bus vecltage new)
{per
{per
{per
{per
{per
{per
{real part of per unit line current}

unit real power}

unit reactive power)
unit resistance}
unit reactance)
unit real load current)
unit reactive load current)
{imaginary part of per unit line current}
{different value}

{maximum different voltage}

{E(X)}

{number of installed capacitors}

-{input kvar of each capacitor)

{kvar of each capacitor)
{per unit kvar of each capacitor}

{real part of per unit }

{load current with capacitaor}

{imaginary part of per unit }

{load current with capacitor}

{bus that capacitor is installed}

{bus that capacitor is installed new}
{normalized distance of capacitor}

{from substation 3

{znnual cost per unit of power loss)

{in $/kw/yr }

{anual cost per unit of installed}

{capacitor in $/kvar three phases)

{2d matric of normalized distance}

{current of each capacitor}

{integrate fq(x)dx}

{hcmatric+intmatric}

{optimum capacitor current}

{1/21cq + sigma lcg rest}

{optimum bus distance of }

{capacitor from substation}

{per unit real current of each capacitor}

{per unit imaginary current of each capacitor}
{difference between optiﬁum capacitor b
{current and the previous capacitor current}
{maximum difference of capacitor current])

{sum of optimum Icq}

{sum of optimum Icd}

{power loss in g-axis}

{power loss in d-axis}

{power loss before install capacitors}

{powver}
{different
{different
{different
{different

of real voltage p-q}

of imaginary voltage p-q}
voltage) -
angle)

{resistance in per unit}



Xpu:matric;
Zpuimatric;
zang:matric;
spg:matric;
sangpq:matric;
sqp:matric;
Sanggp:matric;
spgrimatric;
spgx:imatric;
sgpr:matric;
sgpx:imatric;
plosspirezl;
plosqg:real;
plosspb:ireal;
plosgb:real;
dplossp:real;
dplossgy:real;
plg:real;
costireal;

captype:matint;
maxtype:integer;

{reactance in per unit}

{per unit impedance}

{angle of impedance}

{power flow p-q}

{angle of power flow p-q}
{power flow g-p}

{angle of power flow g-p}
{pover flow p-q real}

{pover flow p-q imaginary}
{power flow q-p real)}

{power flow g-p imaginary}
{real power loss}

{reactive power loss}

{real power loss before install capacitor}
{reactive power loss befor install capacitor)
{real power loss reduction}
{reactive power loss reduction}
{power due to g-axis}
{minimizing cost function}
{type of capacitor}

{maximum type of capacitors)

suml,sum2,sum3:real;{sigma 1,2}

suma,sumb.sumc,sumd,sume,sumf.sumg:matric;

ist:matric;

kes,kef:ireal;

told:matric;
tnew:matric;
1f imatric;
fh:matric;
kf:real;
hij:matrix;
bi:matric;
lp:matric;
slp:real;
inttai:matric;
lel:real;
le2:real;
led:real;
sle:real;

capcostfixed:real;

{Ist(i)}
{annual cost per unit install fixed/switch}
{capacitor in $/kvar 3 phase 1

{inservice duration of capacitor}

{load factor]

{optimum location from F(hi)}
{annual fixed charge rate of each capacitor)
{matric of Hij}

{matric of Bi)}

{power loss reduction}

{sum of power loss reduction)
{integrate from 0 to Tai}
{first term of LE}

{second term of LE}

{third term of LE)

{sum of energy loss reduction}
{cost of fixed capacitor}

capcostswitched:real;{cost of switched capacitor)

objfn:real;
lpsave:real;
lesave:real;
captixed:real;

capswitched:real;
basepowerkw:real;

{objective function}

{save from LP}

{save form LE}

{total fixed capacitor in per unit}
{tatal switched capacitor in per unit}
{value of 1"2r}

basekilowatthour:real;{value of I=2rt}

{ MAKING SOUND }

procedure

begin

beep;

sound(1000);
delay(100);

nosound;

end;

{ CHANGE FROM REAL TO POLAR ]



procedure realpolar(n:integer;r,x:matric;var z,ang:matric);
var i!integer,

begin
for i:= 1 to n do
begin
z(i):=sqrt(sqr(r{i])+sqr(x[i]));
ang[i]:=arctan(x[i]/r[i]);
end;
end;

{ CHANGE FROM POLAR TO REAL }
procedure polarreal(n:integer;z,ang:matric;var r,x:matric);
var i:integer;

begin
for i:=1 to n do
begin
r{ij:=z[i]*cos(ang[i]);
x{i]:=z{i]l*sin(ang[i]);
end;
end;

{xxxxxxxt****x}
{* PIND F(X) *}
{*R*XM*XX:X*** }
procedure findfx(var n:integer;
var fx,kvar,sum:matric);
var i,j:integer;
pla:matric;

begin
for i:=1 to n do
fx[i]:=0;

for i:=1 to n do
plafi]:=kvar[i]/sum[4];

for i:=1 to n do

for j:=i downto 1 do
fx[i]:=fx[il+pla[j];

end;

{ PRINT F(X) }
procedure pfx(var n:integer;

normal ,snormal ,fx:matric);
var i:integer;

begin
clrscr;

writeln(’ o0 3K K K K KKK KK R KK

writeln(’ * TABLE OF F(X) *

writeln(’ S S 3K K KK KK KKK
writeln;

writeln(’ b e e e e
writeln(’
writeln(’ N e e

for i:=1 to n-1 do

=
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=
et
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]
=]
=
i
%
)
o
=
I
£

writeln(’ A
Yoyt fEx(il:il4:10, 1)
writeln(’ H

fx[(n]l:14:10,' }');

',snormal(n]:11:8,*' - 0.00000000

F(X)

',snormal(i]:11:8,’ - ’',snormal[i+l]

[
o

l‘;
"y
i

----------- S -

Ha

-------------- Rl

:10:8,



writeln¢' oo

writeln;
writeln(' <K
readln;

end;

{xxxx*x:tzu*xxxtt*m$x*}

{ SUBPROGRAM FIND Icq }

{FREEREREELLRE RIS ]

procedure findicg(var nc:integer;

var a:matmix);
‘ar k,l,m,1,plinteger;

ri.reai;

begin

mi=nc+l;
for i:=1 to nc do
begin
if a[i,i]=0 then
begin
for k:=i+l to nc do
begin
if a[k,i] <> 0 then
begin
for 1:=1 to m do
begin
ri:=a[i,l];
afi,1l]:=a[k,1];
alk, X]i=ri;
end;
end;
end;
end;
if a[i,i] <> 1 then
begin
ri:=1/faf[i,1i];
for t:=i to m do
afi,t]:=ali,t]*ri;
end;
for p:=1 to nc do
begin
if (p<ri) and (a(p,i]<>0.0) then
begin
ri:=a[p,i];
for t:=1i to m do
a[p,t]:=a[p,t)-a[i,t]*ri;
end;
end;
end;

end;

{ac****x:*xm**s:xx*x*:&x*zx*xxxx*ttx* xx }
{* FIND LOAD FACTOR WHEN SPECIFY Tj *)
{**x*:!* AR R R RS }
Procedure findlf(var told,lf:matric;

var maxtype:integer);
var i:integer;

begin
told{0]:=1;

Press Any Key To Continue

>3
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for 1i:=0 to maxtype do
begin
if told(i]<=0.1875 then
1£[i]:=-1.013333335*told[i]+1
else
begin
1£(i):=0.151875-0.27076923*(told{i]*told[i]-0.03515625);
1£{1]:=1£[1]40.72153846*(told[1]-0.1875);
1f{i)]:=21£{i]/told[i];
end;
end;
gotoxy(30,10);write('Pass...Load Factor’);beep;
end;

{ EEXREE R XL R R AL LR R REE ****}
{* FIND OPTIMUM BANK SIZE *}
{ FHEXEX TR AL ALK RR XX R A )
Procedure findici(var nc:integer;
var snormal,told,int,bi,fx,1f,
kvarcpunew:matric;
var hij,a:matrix;
var ke, kp,kes,kcf ,rireal;
var captype,buscoldimatint);
var 1i,j:integer;

begin

{FIND Hij}

for i:=1 to nc do
begin

for j:=1 to nc do
hijli,jl:=0;
end;
for i:=1 to nc do
begin
for j:=1 to nc¢ do
begin
if ((i>=)) and (captype[il>=captype[j])) then
hij[i.j]::snormal[buscold{i]]*(kp+ke*told[captype[i}]*8?60];
if ({i>j) and (captype[il<captype[j])) then
hijfi,j]::snormal[buscold{i]]*(kpéke*told[captype{j}]*STGD);
1f ((1<j) and (captype[il>captype(j])) then
hij[i,j]:=snormal[buscold[j]]1*(kp+ke*told[captype[i]]*S760);
if ((i<¢j) and (captypel[il<captype[j])) then

hij[i,j]:;snormal[buscold[j]]*{kp+ke¥told[captype[j]]*STGD);
end;

end;

{FIND Bi}
for i:z1 to nc do
begin
int[i]:=0;
bi[i]:=0;
end;

{find integrate F{(x)dx from 0 to hi}
snormal[n+1]:=0;
for i:=1 to nc do
begin
for j:=buscold[i] to n do
int[i]:=int[i]+fx[j]*(snormal[j]-snormal[j+1]);



end;

for i:=1 to nc do

begin

if captvpe[i]l=0 then
bi[i]:=(kp+ke*told[captype[i]]*8760*1f[captype[i]])*int[i]-kecf/(2*T)

else
bi[i]::{kpikextold{captype[i]]*8?60*1f[captype[i]])*int[i]-kcs!{ztr);

end;

{FIED Ici} 5

for i:=1 to nc do

begin
for j:=1 to nc do

ali,jl:=hij[i,jl;

end;

for i:=1 to nc do
afi,nc+1]:=bi[i];

findicatne,a);

for i:=1 to nc do
kvarcpunew[i]:=a[i,nc+1];

gotoxy(30,11);write(’Pass...Optimum Size’);beep;

end;

{m****xtsx:xxx:xt******xx*]
{* FIND OPTIMUM LOCATION *}
{xxxxxxxxx:zzmxx***x:***xx}
Procedure findlocation(var nc:integer;
var sumd,sume,sumf,kvarcpunew,told,
1f ,fh,fx:matric;
var suml,kp,sum2,ke:real;
var captype,buscnew:matint);
var i,jrinteger;

begin
{ SET THE VALUE OF SUMMATION }
for i:=1 to nc do
begin
sumd[1]:=0;
sume[i]::=0;
sumf[i]:=0;
end;

{ SUMMATION OF THE FIRST TERM }
suml:=0;
for ii=1 to nc do
begin
for j:=i-1 downto 1 do
suml:=suml+kvarcpunew[j];
suml:=suml+kvarcpunew([i]/2;
sumd[i]:=kp*suml;
suml:=0;

end;

{ SUMMATION OF THE SECOND TERM }

suml:=0; sum2:=0;
sume{1]:=ke*told[captype[1]]*#8760*kvarcpunew[1]/2;
for i:=2 to nc do

begin

for j:=i-1 downto 1 do



begin
if captype[i]l»=captype[j] then
suml:=suml+told{captype[i] ]*8T760>kvarcpunew| j]
else
suml:=suml+told[captype([j]]*8760=kvarcpunew[j];
end;
sum2:=suml+told{captype[i]]*8760=kvarcpunew[i]/2;
sume[i]:=ke*sum2;
suml:=0; sum2::=0;

end;

{ SUMMATION OF THE THIRD TERM }
for i:=1 to nc do
sumf[i]:=kptke*told[captype[i]]*58760=1f[captype[il]l];

{ FIND F(hi) }

for i:=1 to nc do
fhii]:=0;

for i:=1 to nc do
fhfi]l:=(sumd[i]+sume[i])/sumf[i];

{FIND Hi}

fx[0]:=0;

for i:=1 to nc do
buscnew[i]:=0;

for i:=1 to nc do

begin
for j:=0 to n-1 do
begin

if ((fh{il>=fx[j]))and(fh[i]<=fx[j+1])) then
buscnew[i]:=j+1

end;

end;

gotoxy{BO,lE);write{'Pass...Optimum Location’);beep;
end;

{x*xt*x*xt******}
{* FIND Isi(t) =)
{*****X*t*** ¥ **J
Procedure findinservice(var maxtype,nc,n:integer;
var suma,sumb, sumc,kvarcpunew,
snormal,fx,ist,tnew:matric;
var suml:real;

var captype,buscnew:matint);
var i,j,u,k:integer;
begin ’
{ SET THE VALUE OF SUMMATION 1
for i:=1 to maxtype do

begin
suma[i]:=0;
sumb[i]:=0;

sumc[i]:=0;
end;

{ SUMMATION OF THE FIRST TERM 1
suml:=0;
for i:=1 to maxtype do
begin
for j:=1 to nc do

15¢



begin
if captype[j]l=i then
begin
ui=zj-1;
for k:=u downto 1 do
begin
1f captype[k]<=i then
suml:=suml+kvarcpunew[k];
end;
suml:=sum1+kvarcpunew[j1{2;
sumf:=suml*snormal [buscnew( j]]*kvarcpunew[j];
sumali]:-suma[i]+suml;
suml:=0;
end;
end;
end;

{ SUMMATION OF THE SECOND TERM 1
suml:=0;
for j:=1 to maxtype do
begin
for i:i=1 to nc do
begin
if captype[il<j then
begin
for ki=i-1 downto 1 do
begin
if captype(k]=j then
suml:=suml+kvarcpunew[k];
end;

suml:=suml*snormal[buscnew[i]]*kvarcpunew[i];

sumb([j]:=sumb[j]+suml;
suml:=0;
end;
end;

end;

{ SUMMATION OF THE THIRD TERM }
suml:=0;
for i:=1 to maxtype do

begin
for j:=1 to nc do
begin
if captype[jl=i then
begin

for k:=n downto buscnew[j] do
suml:=suml+fx[K]*(snormal[k]-snormal[k+1]);
suml:=suml*kvarcpunew[j];
end;

sumc[i]:=sumc[i]+suml;

suml:=0;

end;

end;

{ FIND Is(Ti) }

ist[0]:=0;

for i:=1 to maxtype do
ist[i]):=0;

for i:=1 to maxtype do
ist[i]:=(suma[i]+sumb[i])/sume[i];
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gotoxy(30,13);write(’'Pass...Switching Level’);beep;

{ FIND INSERVICE DURATION Ti }
for i:=1 to maxtype do
begin
if ((ist{i]<=1) and (ist[i]>=0.62)) then
tnew[i]:=(ist[i]-1)/(-2.026666667);
if (ist[i]<0.62) then
tnew[i]:=(ist[i]-0.72153846)/(-0.541535846);
end;
gotoxy(30,14);write(’Pass...Inservice Duration’);beep;
end;

{x*:x:xx:xxx*xzxtx]
{WRITE THE RESULTS}
{*xm*:**m:x:xm*x*x}
Procedure writeresult(var nc:integer;
var captype,buscnew:matint;
var Kvarcpunew,sum,ist,tnew:matric);
var i:integer;

begin
gotoxy(30,15);write( 'Pass...Result Comparison’);beep;
clrscr;
writeln(’ E KK RN K AR R s
writeln(’ * TABLE OF RESULT =55
writeln(’ 43K 3 S0 S S K K K BT
writeln;
writeln(’ {mmmee e fmmmrt PRaReE R P e mm e Ly
writeln(’ { NO | TYPE | BUS | KVAR + SWITCHING | IN-SERVICE }');
writeln(’ . : : : { LEVEL(KVAR) |DURATION(PU)|’);
writeln(’ e (s e (e P xR (TR = y T D T
for i:=1 to nc do
writeln(’ 11,43, PgEprypeElTiTaT T L ousceEwt s 3, 1Y,
kvarcpunew[i]*sum{4]:9:2,* |',ist[captype[i]]l*sum(4]:11:2,
1 tnew[captype[i]]:10:6," !');
writeln{’ HEEt s R RT fera AN SR, M ETTARE] L i i
writeln;
vwriteln('’ <<¢ Press Any Key To Continue 3> 102
readln;
end;

{**x##*x::xt:*xm*xxaxxxxzx*z]
{* FIND OBJECTIVE FUNCTION =}
{**zxxxxxxxtx**txxxtxxxxxiwx}
{*xxxx::xxxxx}
{* FIND LPi *}
{*xtt*x:x:xz*}
Procedure findobj(var nc,n,maxtype:integer;
var sumg,kvarcpunew,int,fx,snormal,lp,suma,
tnew,inttai,sumb,sumc:matric;
var r,slp,suml,lel,sum2,sum3, le2,
leld,sle,capfixed,capswitched,objfn, lpsave,
lesave,capcostfixed,capcostswitched:real;
var buscnew,captype:matint);
var i,j,k:integer;

begin
for i:=1 to nc do
sumg[i]:=0;



for i:=2 to nc do
begin
for j:=zi-1 downto 1 do
sumg(i]:=sumg(i]+kvarcpunew[j];
end;
for i:=1 to nc do
int[i]:=0;
for i:=1 to nc do
begin
for j:=buscnew[i] teo n do
int(i]:=int[i]+(fx[j]l-sumg[i])*(snormal[j]-snormal(j+1]);
end;

clrscr;
for ii=z]l to nc do

writeln(’int f(x)-Ici=',int[i]);readln;

for i:=1 to nc do
int[i]:=int{i]*2*r*kvarcpunew(i];
for i:=1 to nc do
1p[i]:=0;
for i:=1 to nc do

1p{il:=int[i]-r*snormal[buscnew[i] ]*sqr(kvarcpunew[i]);

for i:=1 to nc do
writeln{'LP=",61p{i]);readln;

slp:=0;
for i:=1 to nc do
slp:=slp+lp[i];

writeln{’'sum lp = ’,slp);readln;

{xm:xxxmxx:*x}
{* FPIND LEi *}
{x*mxxxtx****}
{ SuM OF THE FIRST TERM )}
for i:=1 to nc do
int[i]:=0;
snormal(n+l):=0; suml:=0; lel:=0;
for i:=1 to nc do
suma[i]:=0;
for i:=1 to nc do
begin
for j:=buscnew[i] to n do
int[i]:=zint[i]+fx[j]*(snormal[j]-snormal[j+1]);
end;
for i:=1 to nc do
suma[i]:=2%*r*tnew[captype[i]]*1f[captype[i]]*kvarcpunew[i]*int[i];
for i:=1 to nc do

lel:-lel+suma[i];

clrscr;

for i:=1 to nc do
writeln('’suma = ’',suma[i]);

writeln(’'lel = ',lel);readln;

{ SUM OF THE SECOND TERM }
suml:=0; sum2:=0; sum3:=0; le2:=0;
for i:=1 to nc do
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begin
for k:=1 to i-1 do
begin
if (captype([il>=captype(k]) then
suml:=suml+kvarcpunew[k];
end;
sumZ:-tnew{captype[i] ]*suml;
suml:=0;
for j:=captype[i]+l to maxtype do
begin
for k:=1 to i-1 do
begin
if (captype[jl=captype[il) then

suml:=suml+kvarcpunevw[k];

end;
sum3:=sumd+ tnew([ j]*suml;
suml:=0;

end;

sumb[1]:=(sum2+sum3)*2*r*snormal [buscnew([i] ]*kvarcpunew(i];
suml:=0; sum2:=0; sum3:=0;

end;

for i:=1 to nc do
le2:=1e2+sumb(i];

for i:=1 to nc do
writeln('sumb = ’,sumb[i]);
writeln('le2="',le2);readln;

{ SUM OF THE THIRD TERM }
le3:=0;
for i:=1 to nc do

sumc[i]:=r*snormal[buscnew[i]]*tnev[captype[i]]*sqr(kvarcpunew[i]);

for i:=1 to nc do
le3:=le3d+sumc[i];

for i:=1 to nc do
writeln('sumc="',sumc[i]);
writeln('le3="',1le3); readln;

{ SuM OF LFi }
sle:=1lel+le2+leld;

writefn(’LEz‘,sle);
readln;

{*t**x:******X***:«***t#x#**!* }
{ CAPACITOR FIXED & SWITCHED }
{tﬁ!** EEEXEREX XX REREE LR ER R XS }
suml:=0;sum2:=0;
for i:=1 to nc do
begin
if (captype([i]=0) then
suml:=suml+kvarcpunew[i]
else
sum2:=sum2+kvarcpunew[i];
end;
capfixed:=suml;
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capswitched:=sum2;

{xx:xxzx::x:m:x:*x**]

{ ANNUAL NET SAVING }

{FEEEERAR LKA LR R F )
basepowerkw:=sqr(basei)*sum[2]/1000;
basekilowatthour:=-sqr(basei)*sum[2]*S760/1000;

objfn:=0;

lpsave::=kp*slp*3*basepoverkw;
lesave::ke*slegS*hasekilnwatthour:
capcostfixed:=capfixed*kcf*basepowerkv={1+k£/100);
capcostswitched: =capswitched*kcs*basepowerkvs( 14k{/100);

objfn:-1psave+lesave-capcostfixed-capcostsvitched;

{test}

objfrn:zkp*slp;writeln(aobjfn);
objfn:=ke*sle*8760;writelniobjfn);
objfn:={kcf*capfixed+kcs*capswitched)=¢1+k£/100);writelniobjfn)

3

objfn:=kp*slpt+ke*sle*8760+(1+kf/100)*(kecf*capfixedikcs¥capswitched);

writeln('obj = ',objfn);

end;

{xx!xaxzﬂxzxm:xtx}

{ WRITE NET SAVE }
{t*:::xxx*xa*x#x#}
Procedure writenetsave(var lpsave,lesave,capcostswitched,
capcostfixed,objfn:real);
begin

clrscr;

writeln(’ FEEEKRRE KRR KRR RF KR )

writeln(’ = ANNUAL NET SAVING *');

writeln(’ AR AR KK KA AR )

writeln;

writeln('’ e ittt B ittt Lo
writeln(' \  SAVE FROM PEAK POWER LOSS REDUCTION |',lpsave:5:0,' i 1
writeln(’ | SAVE FROM ENERGY LOSS REDUCTION 1’ ,lesave:5:0,’ i 14
writeln(’ \  SWITCHED CAPACITOR COST 1! ,-capcostswitched:8:0,’
writeln(’ 1 FIXED CAPACITOR COST ! ,-capcostfixed:8:0,"
writeln('’ T R e e Lomnen R vay.
writeln(’ \ ANNUAL NET SAVING ($) 1 ,objfn:5:0," b
writeln(’ Oy S S O Sy S e Tl
writeln;

writeln(’ <<¢ Press Any Key To Continue >>» -

readln;

end;

{xtk#xxxxx**ztx*ttxxxxz***x*x:*tt***xxzzxxxxxaxxxxxxxxxxxxxx*tx:}

{*xxxxzx:txxr#*****x:axx*****xm#t}
{ MAIN PROGRAM OPT.PAS }
{xtx#x*xaxzt:x:z*xx**xzs**:::xxxx}
begin

beep;

clrscr;

BOLOXY(17,3); write( ' ®mie s 6 o 8 £ 5 oo Ko o0 00k oo ke | )

gotoxy(17,4); write('=* *7)
goluay 17,3} woriloef'= optly II (LA
ROTOXVILT,01; writet¢'s OPTimue S1Ze Ao .

gotoxy(17,7); write{’'x of e

")

')i



gotoxy(1l7,8); write('#*
gotoxy(17,9); write('=
gotoxy(17,10);write('*
gotoxy(17,11);write(’*
gotoxy(17,12);write(’x
gotoxy(17,13);write(’'*
gotoxy(17,14);write(’'*

Capacitors In Distribution System
Hriten By
Ass.Prof. Prasit Pittiyapat
And
Mr. Parames Chutima
Chulalongkorn University

**)4
i
w0
')
S

F105

T

gOtoxy (17,15 ) jwrite( ' ®FFreret et oo oot oooone st e oo ) o

gotoxy(17,20);write(’
readln;

clrscr;

{ GETTING INPUT DATA }

<¢<¢ Press Any Key To Continue >3>

gotoxy(20,8);writeln( ’NUMBER OF BUSES = ');

gotoxy(38,8);readln(n);

gotoxy(20,9);writeln(’VOLTAGE AT SUBSTATION IS = ’);
gotoxyv(52,9);writeln(’KV’);

gotoxy(48,9);readln({vsub)};

gotoxy(20,10);writeln(’DO YOU WANT TO GET DATA FROM ');
gotoxy(20,11);writeln(’l) DATA FILES');
gotoxy(20,12);writeln(’2) INPUT DATA FROM KEYBOARD');
gotoxy(20,13);writeln(’(TYPE 1 OR 2) ==z==zz==> '),
gotoxy(43,13);readln(dfrom);

if dfrom=2 then goto X1;

clrscr;

{ GETTING INPUT DATA FROM DATA FILES }
{ RESIST.DAT & REAC.DAT & PHYL.DAT & KW.DAT & KVAR.DAT ]
write(’'DO YOU WANT TO CHANGE DATA IN DATA FILES (Y/N)? '),

readln{yes);
if yes = 'y' then

{ CHANGE DATA IN DATA FILES }

begin

writeln{’DATA FILES THAT YOU CAN CHANGE IS ');
writeln('l) RESIST.DAT®);

writeln(’2) REACT.DAT');

writeln(’3) PHYL.DAT');

writeln(’4) KW.DAT');

writeln(’5) KVAR.DAT');

vrite('TYPE A FILE NAME THAT YOU WANT TO CHANGE =

X2: readln(name);

assign(filevar,name);

revwrite(filevar);
for i:= 1 to n do
begin

"
"
~
—

write(’INPUT ’,name,’ NUMBER (',i,’') = ')}

readln(value[i]);

write(filevar,value(i]);

end;
close(filevar);

write(’DO YOU WANT TO CHANGE ANOTHER FILES (Y/N)? ');

readln(yes);
if yes = 'y’ then
begin

writeln('DATA FILES THAT YOU CAN CHANGE IS ’);
writeln('l) RESIST.DAT’);

writeln(’2) REACT.DAT’};

writeln(’3) PHYL.DAT');

writeln(’4) KW.DAT');

y .
i
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writeln(’5) KVAR.DAT');

write('TYPE A FILE NAME THAT YOU WANT TO CHANGE ===»

goto X2;
end;

end;

{ READ DATA FROM DATA FILES }
assign(filevar, 'resist.dat’);
reset(filevar);
for i:= 1 to filesize(filevar) do
read(filevar,resist[i]);
close(filevar);
assign(filevar, 'react.dat’);
reset(filevar);
for i:= 1 to filesize(filevar) do
read(filevar,react[i]);
close(filevar);
assign(filevar, 'phyl.dat’);
reset(filevar);
for i:= 1 to filesize(filevar) do
read(filevar,phyl[i]);
close(filevar);
assign(filevar,’kw.dat’);
reset(filevar);
for i:= 1 to filesize(filevar) do
read(filevar,kw[i]);
close(filevar);
assign(filevar, 'kvar.dat’);
regset(filevar);
for i:= 1 to filesize(filevar) do
read(filevar,kvar[i]);
close(filevar);
goto X3;

{ INPUT DATA FROM KEYBOARD }
X1: clrscr;

writeln('THE FIRST BUS IS AT THE END OF FEEDER’);

for i:=1 to n do
begin

writeln( '#*%xx BUS NUMBER (',i,')’,’  ‘s=x=x=x!'};
write('Resistance in Ohm/Miles = ');readln(resist[i]);
vwrite(’'Reactance in Ohm/Miles - ’);readln(react[i]);

write('Length in Miles = ’);readln(phyl[i]);

write(’'Three Phase Kilowatt Load = ');readlni(kw([i]);
write('Three Phase Kilovar Load = ’);readln(kvar(i]});

writeln;
end;

{ FIND MAXIMUM KVAR }
X3: maxkvar[l]:=zkvar[l];

bkvarmax:=1; {find maximum kvar bus}

for i:=2 to n do
if maxkvar([l]<kvar[i] then
begin
maxkvar[1l]:=kvar[i];
bkvarmax:=1i;
end;

{ SUM OF PHYSICAL LENGTH }
sum{1]:=0.0;

")



for i:=1 to n do
sum[1]:=sum{1]+phyl[i];

{ suM OF EQUIVALENT UNIFORM FEEDER IN MILES }
for i:=1 to n do
egil[i]:=resist[i)*phyl[i]/resist[bkvarmax];
sum{2]:=0.0; )
for i:=1 to n do
sum{2]:=sum[2]+eqil(i];

{ SUM OF NORMALIZED UNIFORM FEEDER ] *
for i:=1 to n do
normal{i]::eqil[i]/sum[2];
sum([3]:=0.0;
for i:=1 to n do
sum[3]:=sum{3]+normal(i];

{ SUM OF KVAR }
sum[4]:=0.0;
for i:=1 to n do

sum[4]:=sum[4]+kvar[i]

{ SUM OF KW }

sum[5]:=0.0;

for i:=1 to n do
sum[5]:=sum[5]+kw([i];

clrscr;

{ WRITE CHARACTERISTIC RESULT FROM CALCULATION }

writeln(’ e T T T T L L T I
writeln(’ * TABLE OF INPUT DATA *');
writeln(' O RO KRR )
writeln;
writeln(’ |----- H e it fmmmmmmmmmm femmmmmm o jomm————— fmmmm———e '
writeln{’ | {RESISTANCE| PHYSICAL VSECTION LENGTH | NORMALIZED . H H
writeln(® ! BUS !OHMS/MILE | SECTION ,0F EQUIVALENT |SECTION LENGTH, KW ¢t KVAR |
writeln(’ | No. | \ LENGTH 'UNIFORM FEEDER, FOR EQUIVALENT! 1LOAD | LOAD v
writeln(' | i ' IN MILES }IN MILES 'UNIFORM FEEDER; H !
writeln(? [=<=== s femmmmmmn e et fmmmmmmm e e jrrmmmm—— :
for i::=1 to n do
writeln(® !',i:3,’ |',resist[i]:9:5, °’ v+ phyl[i]:9:5,

o eqil[i]:11:5,° ¢ normal[i]:11:5,

v kw[i]:8:1,%) " kvar[i):8:1,"1");
writeln(’' |=---- |mm ettt ettt ittt lmmmmmm tommmmmm— H
writeln(’ | total v7 sum[1]:9:5,' |’,sum[2]:11:5,

¥ ‘' ,sum[3]:11:5," :’,sum[S]:B:l,’i',sum[4]:3:l,’:');
writeln(' j=r=—-—=cenern—=- et ettt lmmmm e e = R tatatated Pommm e ;
writeln;
writeln(' ¢¢<¢ Press Any Key To Continue »>?
readln;

{ FIND BUS TO BUS RESISTANCES }
for i:= 1 to n do
rohm[i]:=resist{i]*phyl[i];

{ FIND BUS TO BUS REACTANCES }
for i:= 1 to n do
xohm{i]:=react[i]*phyl[i];

)i
i
%¥5
")
")
i



{ WRITE R & X BETWEEN BUS

clrscr;
writeln(’
writeln(’
writeln('
writeln;
writeln('
writeln(’
writeln(’
writeln('
for i:= 1 to n do
writeln(’

xohm[i]:10:5,"

writeln(’
writeln;
writeln('

readln;

)

")

xtxxt:xtt=zxxzxtxzxxxxxzx:x:xmx:x*');

* VALUE OF R & X FROM BUS TO BUS *');

*th*zx**:**!2!****1!!3***%:**!**x’);

IN OHMS

BUS i RESISTANCE

i
i REACTANCE
v IN OHMS

<<{ Press Any Key

{ NORMALIZED EQUIVALENT DISTANCE H(X) }

for i:= 1 to n do
h{i]:=0.0;

for i:= 1 to n do

for j:= 1 to n do

h{i):=h[i)+normal(j];

{ REAL DISTANCE OF BUS FROM SUBSTATION }

for i:= 1 to n do
rdist{i]:=0.0;

for i:= 1 to n do

for j:= i to n do

rdist{i}:=rdist[i]+phyl(j];

{ SuM OF NORMALIZED DISTANCES }

for i:=1 to n do
snormal[i]:=0;
for i:=1 to n do

for j:=n downto i do

snormal[i]:=snormal[i]+normal[j];

{ WRITE NORMALIZED & REAL DISTANCE }

clrscr;
writeln('
writeln('
writeln(’
writeln;
writeln(’
writeln("’
writelnt('’
writeln(’
for i:= 1 to n do
writeln(’
writeln('’
writeln;
writeln{('’

readln;

{ FIND BASE IN THIS PROGRAM )}
basez:=sqr(vsub)*1000/sum{4];

€4

basei:=sum[4]/(sqrt(3)*vsub);

aresist:=0.0;

*Z#***I**:**Xm*ﬂ**ﬁ*t!*‘*#****x’):

* NORMALIZED & REAL DISTANCE *');

EETFETIF T LS LSS S5+ £ 80 5 2 0 k) ) ¥

------------ L

BUS | NORMALIZED | REAL Hb
+ DISTANCE | DISTANCE [’);
_____ T T e e [

Press Any Key To Continue »>>’

i
Hi

L0

,i:3,' !’ ,snormal[i]:10:6,' }’',rdist[i]:10:4,’

bon B2



for i:= 1 to n do
aresist:-aresist+resist[i]*phyl[i];
ri:zaresist/sum(2];

clrser;
writeln('{zxxxxt*x*xxxm:xixzx:xx:*x:xt}');
writeln('{ BASE YALUE IN THIS PROBLEY }');

Writeln(F{x*xx*rzxx*txx;*x****!xtxtxz#}‘);

writeln;

writeln{'Base Voltage (KV) = *,vsubh:i12:4);
writeln(’Base Power (KVA) = *,sum[4]:12:4);
writelni'Base Current (AMP) = ',basei:12:4);
writeln('Base Impedance (OHMS) = ’',basez:12:4;;
writeln;

writeln( 'Resistance in Ohm/Miles Of Equivalent Uniform Feeder (r)
writeln;

writeln(’<<< Press any Key To Continue 33>");

readln;

{ FIND PER UNIT P,Q,R,X FOR EACH BUS }

for i:=1 to n do

begin
pup[il:=kw[i]/sum[4];
pug[i]:=kvar(i]/sum[4];
pur(i]:=resist[i]*phyl[i]/basez;
pux{i]:=react[i]*phyl[i]/basez;

end;

{ FIND PER UNIT RESISTANCES }
for i:=1 to n do
begin
rpu(i]:=rohm[i] /basez;
xpuli]:=xohm[i]/basez;
end;

realpolar{n,rpu,xpu,zZpu,zang);

{x*x:xtxzxxz::mu:}
{* FIND E(X) *}
{xm*txxxxxwxmm}
findfx{(n,fx,kvar,sum};

pfx{n,normal,snormal,fx);

{#*:**xt EETTIT TR R SR LRSS 2 2t }

{ INPUT VALUE IN THE FIRST ITERATION 1
{mxmxxxx*zxzxx#xx#mtmm*xm#x**#*zxtxm*]
{ INPUT DATA IN THE FIRST ITERATION }
clrscr;
wrileln('xxxm*x#xxxxxtxmm**xtxxxx*xxxxxx*xxxxx'};
writeln('* INPUT DATA IN THE FIRST ITERATION *');
writeln(’a:m##*****xa*xxxxxw*:x*x:xtttmxr:ztxt‘);
writeln;
write( 'NUMBER OF INSTALLED CAPACITORS = *y;readln(nc);
writeln;
writeln(’SPECIFY RATING & TYPE AND BUS OF CAPACITORS’);
writeln('TYPE 0 #wxxxyy 1S FIXED CAPACITOR’);
writeln('TYPE > 0 #*x=*x>) 1S SWITCHING CAPACITOR’);
write('INPUT MAXIMUM TYPE OF CAPACITORS = *);readln(maxtype);
for i:=1 to nc do
begin

writeln;

write( ’KVAR RATING OF CAPACITOR (',I,') = ?y;readln(kvarc[i]);



kvarcpuold[i]:=kvarc[i]/sum[4];
write{'INPUT TYPE OF THIS CAPACITOR = '3);readlnicaptypel[i]};
write('INPUT BUS THAT WILL INSTALL THIS CAPACITOR = '),
readln(buscold[i]);

end;

{ INPUT INSERVICE TIME OF CAPACITORS }
writeln;
writeln('INSERVICE TIME(HOURS) OF CAPAICTORS TYPE 0 = S§760');

for i:=1 to maxtype do

begin
write{'INSERVICE TIME(HOURS) OF CAPACITOR TYPE (',I,') = 7);
readln(told[i]);

end;

for i:=1 to maxtype do
told[i]:=told[i]/876G0;

{ INPUT COST COEFFICIENT OF CAPACITORS ]
writeln;

write( ’ANNUAL COST PER UNIT OF POWER LOSS IN s/KW/YR (Kp) = ');

{readln(kp); }kp:=120;

write( 'ANNUAL COST PER UNIT OF INSTALLED CAPACITOR IN $/KVAR 3 PHASE (He) = ');
{readln(ke); }ke:=15e-3;

write({ ’ANNUAL COST PER UNIT OF INSTALLED FIXED CAPACITOR (Kcf) = ');
{readln(kcf); }kef:=3.5;
write('ANNUAL COST PER UNIT OF INSTALLED SWITCH CAPACITOR (Kes) = '),

{readln(kcs); }kcs:=6;
write{ ’ANNUAL FIXED CHARGE RATE IN PERCENT OF CAPACITOR COST (Kf) =');
{readln(kf);}kf:=14.3;clrsecr;

{x***xx*tﬁ*x‘********K*tt*xt**x******}
{* FIND LOAD FACTOR WHEN SPECIEY Tj *}
{xx*:xxt:xttxzxxxxxxxmx:xt****xt*#*x:}
X6:findlf(told,1f ,maxtype);

{FEEFXXEXERIRERKE LR R XKRLEN ]

{* FIND OPTIMUM BANK SIZE *}
{:k#:ncxx::xxt*:x*t*x*m*::xmmmmm}
findici(nc,snormal,told,int, bi,fx,1f,kvarcpunev,

hij,a,ke,kp,kcs,kef,r,captype,buscold);

{*t*z*ﬁt**lt’t*itt*ttxtﬂ*t}
{* FIND OPTIMUM LOCATION %]}
{#xxxxx:xxxxx*xxtxxsxxxmxz}
findlocation{nc,sumd, sume,sumf,kvarcpunew,told,1f,fh,

fx,suml,kp,sum?,ke,captype,buscnew);

G e e e R E L E LT L
{* FIND Isi(t) *}
{mz:***xt:x:txxx}
findinservice(maxtype,nc,n,suma,sumb,sumc,kvarcpunev,

snormal,fx,ist,tnew,suml,captype, buscnevw);

{*:x**x:x*xx:*xtx:xxt*]
{* COMPARING RESULTS *}
{*t*******x*!*x*t!*t**}
tnew[0]:=1;

for i:=1 to nc do
begin



if (abs(kvarcpunew{i]j-kvarcpuold[i])»=0.0001) then
goto X4;
if (buscnew[i]<>buscold[i]) then
goto X4;
end;
for i:=1 to maxtype do
begin
if (absttnew[i]-told[i])>=0.001) then
goto X4,
end;

{***xzxx:xzxx*txmx }
{WRITE THE RESULTS}

{t*m**t*x*x*xmx**x }

writeresult(nc,captype,buscnew,kvarcpunew,sum,ist,tnevw);

{test}

clrscr;

for i:=0 to maxtype do
writeln('LF{’',1,’]1=",1£[1i]);

readln;clrscr;

for i:=1 to nc do

begin
for j:=1 to nc do

writeln('H[",1i,”,%,3,")=",hij[i,j]);

end;readln;clrscr;

for i:=1 to nc do
writeln(’B[’',i,"]=",bi[i]);

readln;clrscr;

for i:=1 to nc do
writeln('Ici=',kvarcpunew([i]);

for i:=0 to maxtype do
writeln('Ti="',tnew(i]);readln;clrscr;

goto X5;

X4:{CHANGE NEW TO OLD ---> NEW ITERATION}
gotoxy(30,15);write(’Not Pass...Result Comparison’);beep;
for i:=1 to nc do
kvarcpuold[i]:=kvarcpunew[i];
for i:=1 to nc do
buscold[i]:=buscnew[i];
for i:=1 to maxtype do
told[i]:=tnew[i];
clrscr;
goto X6,

{x:rxxa:*z:xx:**x:xt*:xxx***:*}

{* FIND OBJECTIVE FUNCTION *}

{x**zz:x#x:xxxx:xxxxx:x*:zxx}

¥5:findobj(nc,n,maxtype,sumg,kvarcpunew,int,fx,snormal, lp,suma,
tnew, inttai,sumb,sume,r,slp,suml,lel,
sumz,sum3.192,193,sle,capfixed,capswitched.objfn,
lpsave, lesave,capcostfixed,capcostswitched,buscnew,

1€



captype),;

{x:x:xxzzxsxx:x*x}
{ WRITE NET SAVE }

(xxtxtxxxz*x*x*mx}

writenetsave(lpsave.lesave,capcostswitched.capcastfixed,abjfn);

{xxxxxx:ztxxx*1xttx:=*xx:tttzx*::xxxxxtxx*xzzxxxxmzzxthxxx}
{ INPUT VALUE IN THE FIRST ITERATION OF PRACTICAL CAPACITOR}
{z**#t"*¥¥¥¥K*#¥Xt*#**’t*x*****t*‘*%x**x*zxtt*xtm*xmmt*x!*}
{ INPUT DATA IN THE FIRST ITERATION 1

X10:clrscr;
Hritelnf'rxmxxxxxtrxxmxtx*x:xxzztzzx:mxzmu#:xz‘j;

writeln('® INPUT DATA IN THE FIRST ITERATION *');
wrjteln(’1xt:xmm:xx*zxm#tzxxlex:xxxx:*xtmm**x’);

writeln;

writelnt 'THE CALCULATED CAPACITORS SIZE MaY BE IMPRACTRICAL');
writeln( 'PLEASE SPECIFY THE PRACTRICAL SIZE OF CAPACITOR');
writeln('NUMBER OF INSTALLED CAPACITORS = ! NCYS

writeln( 'SPECIFPY KVAR RATING OF PRACTRICAL CAPACITORS');
writeln('TYPE = 0 **#x%3; IS FIXED CAPACITOR'");
writeln(’TYPE > 0 ***xx>> IS SWITCHING CAPACITOR");
writeln('THE MAXIMUM TYPE OF CAPACITORS = ',maxtype);
writeln;

for i:=1 to nc do

begin
write('KVAR RATING OF CAPACITOR (',I,") = 'yireadln(kvarcinput(i]);
kvarcpuold(i]:=kvarcinput[i]/sum[4];
writeln{’TYPE OF THIS CAPACITOR = ' captypeli]);

end;writeln;
writeln(’Press Any Key To Continue');readln;
clrscr;
for i:=1 to nc do
buscold[i]:=buscnew[i];
for i:=1 to maxtype do
told[i]):=tnew[i];

{FEAFER AR L TAKE KKK KRR KK ALLL, ]
{* FIND LOAD FACTOR WHEN SPECIFY Tj *}

{xxxxxx#xxxx*xxmxxzzxxx***t:z*:::sxxx}

X9:findlf(told, 1f ,maxtype);

{x**3*1**!*#%***1*3##!***1*}

{* PIND OPTIMUM BANK SIZE *)}

{xmmxmxxx***mxx*x*xx:xtx*:x}

for i:=1 to nc do
kvarcpunew[i]:=kvarcpuold[i];

gotoxy(30,11);writeln(’Pass...Optimum Size’);

{**xxtx**xxxt*xs:xtxxzxwta}

{* FIND OPTIMUM LOCATION *}

{ttt*tl*!**#*t*ﬁ*#**!&x***}
findlocation(nc,sumd,sume,sumf,kvarcpunew,told.lf,fh.
fx,suml.kp.sumz.ke,captype,buscnew);

{xz:*xt*xx*xrx!x}

{*= FIND Isi(t) *}

{x*xxzm*tﬁ*xxtt*}

findinservice(maxtype,nc,n,suma,sumb,sumc,kvarcpunev,
snormal,fx.ist,tnew,suml,captype.buscnew);

16



{X:*X#**‘*K*Xtt*xtt!*!:}
{* COMPARING RESULTS *}
{XX*XKI**K‘***‘X**S::I}
tnew([0]:=1;
for i:=1 to nc do
begin
if (abstkvarcpunew[i]-kvarcpuold[i])}»=0.00C1} then
goto X7;
if (buscnew[i]<>buscold[i]) then
goto X7; &

for 1::1 1o maxtype do
begin
if {abs(tnew[i]l-told[i])»=0.001) then
goto XT7;
end;

{::::x:x:tx:::x::::xxx:x***}
{WRITE THE RESULTS)

{HRRH LR AR IR KR RRAE ]

writeresult(nc,captype,buscnew,kvarcpunew,sum,ist,tnew);

{test}

clrscr;

for i:=0 to maxtype do
writeln(’LF[’,i,']1=",1f[i]);

for 1:=0 to maxtype do
writeln(’Tiz’,tnew[i));readln;clrscr;

for i:=1 to nc do

begin
for j:=1 to nc do

writeln('H[',i,’,’,3,")=",hij[i,§]);

end;readln;clrscr;

for i:=1 to nc do
writeln(’B[’,i,’]=",bi(i]);

readln;clrscr;

for i:=1 to nc do
writeln('lci=’,kvarcpunew[i]);

readln;

goto X8;

X7:{CHANGE NEW TO OLD ---> NEW ITERATION} .
gotoxy(30,15);write(’Not Pass...Result Comparison’');beep;
for i:=1 to nc do

kvarcpuold[i]:=kvarcpunew[i];
for i:=1 to nc do

buscold[i]:=buscnew(i];
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for i:=1 to maxtype do
told[i]:=tnew[i];

clrscr;

goto X9;

{ EER AR N IR EERA KRR K }

{* FIND OBJECTIVE FUNCTIOKN *}

{ AR RN RN E RS }

X8:findobj(nc,n,maxtype,sumg,kvarcpunew,int,fx,snormal,lp,suma,
tnew,inttai,sumb,sumc,r,slp,suml,lel,
sum? ,sum3, le?,le3,sle,capfixed,capswitched,objfn,
lpsave,lesave,capcostfixed,capcostswitched,buscnew,
captype);

{x**mtazmxxxx*zx*)
{ WRITE NET SAVE }

{*t***#x!x**!ﬂ(**t ]

writenetsave(lpsave,lesave,capcostswitched,capcostfixed,objfn);

clrser;
writeln(’DO YOU WANT TO CONTINUE ANOTHER SIZE OF CAPACITOR ?7');
write('PLEASE TYPE (1) IF YOU WANT OE (2) IF YOU DO NOT WANT ==> '},
readln{i);
if i=1 then
goto X10;
writeln;
writeln(’'<<< THIS IS THE END OF THIS PROGRAM »>>>");
writeln(’ GOOD BYE )
sound{300);delay(1000);sound(600);delay(1000);s0und(900);delay(1000);
nosound;
readln;

end.



AIRHUIN A
- o { ' -
1§ﬂ111§Tﬂ1un1uﬁ1n1uasuﬂ?taafuuunqaﬁn

‘%n; ] nl PR L %) . a 4
Tuunu3vaana12LnanuIon 1519 Tusungu Optel.Pas  etduTusungun

- E4 4 _w - { - 5 Ve oo« < - £
uwuﬂﬁuuﬁtwa?ﬁTHﬂﬂiﬁLﬂﬁﬂsﬁﬂﬁﬂuﬂﬁ MQSHTuﬁmﬂﬁaﬁqnLﬁuﬂzﬁuHQQﬁﬂﬁiuﬁuaﬂx

-~ = =i

{ . 4 - [l - o -
Hﬁ%tﬁﬂiﬂﬁﬂﬂ?ﬁ@ﬁk%ﬂﬁﬁv&LG??LﬂWHu §1ﬁ5u1§n11?un111§Tﬂ1uﬂ1utazua¢ﬁ

. o 5 b
- ]
ol L

4 4 X w g
LnaLﬂatﬁﬁaaﬁauﬁatﬁaiﬂuuﬂziwnsiu (Run) TdgunguinasTudndana

- :‘: £ (4 ] [
AN WANAINENL T2 L TanTANNTR9  Optel.Pas  ¥AunduTnuanasiiay  6a

o -~ < o o w - 4 .
aﬁﬂuu;11aziu1ﬁ1un1nd1t1azﬂ Optecl.Pas ?8ﬂ11ﬁL?WTREﬂHRTNuLﬁﬂi (Monitor)

gdanu

EE e 222 2 b2 T PSS TR ST T EETE T

* o
® Opte 1 ot
* Optimum Size And Location x
* of £
* Capacitors In Distribution System *
* Writen By *
* Ass,Prof, Prasit Pittiyapat *

And *
* Mr. Parames Chutima *
* Chulalongkorn University *
* g

EEE SRS R e R T e e

(<< Press Any Key To Continue 3>

5 ¥ d v } . o
WRIIINUULATAIILINL TIRAUAIN LR 7 LTIz naunun1IRauIagy
- { 45 d -y - - Jd 1 B '
Auansa9nanuni 1uaauu1nLﬂiaqasn?uucaﬂuuuuﬁnnagﬂuixuunQﬁna AENIIY
el - - 4 1 -y . w E ) 4 i . a
DINNSTEAUNTIAUNT T Tu T2 U ﬁaﬂﬂﬂznﬁuﬂd1§ﬂ11u1ﬂﬂ§alBWLR?BG?WQZHWLﬁ?TﬂH
bt (&Y = Jﬂ [ 7 =] a - . 2 e W "
n111ﬁ1wana§a (Data File) nuagua1 #“ia asawzuunﬂﬁuwtﬁﬂnunagaﬁuu a8

d!)&p -4 ‘d <4 =y oy . o ow
Li?ﬂzLﬂu§1ﬂH1Laﬁ 1 nia 2 Lwalaaﬂ?nn11u3Lﬂﬂna§a



4 LY RPN ] o P w <4 o A Y] d w
LuatiﬂTﬁﬂ?ﬂaga1n1étaiaqua11un?ﬁnx51uﬂnagat31195131wanana b
L]

. [ ' - L £ ' ' .
?3BHUHWHWHHQTU11L11?8§ﬂ11LUaEuuﬂaﬁﬂﬂgaquiﬂaﬁﬂﬂﬂﬁ%QTn L3180 ¥ "3

N

WAYRIINUULLA

NUMBER OF BUSES = §

VOLTAGE AT SUBSTATION IS - 23 KV
DO YOU WANT TO GET DATA FROM

1) DATA FILES

2) INPUT DATA FROM KEYBOARD

(TYPE 1 OR 2) ======:> 1

nfy
s |

iy
=53]

DO YOU WANT TO CHANGE DATA IN DATA FILES (Y/N)? n

L1

A e o WA o 4. w
TRAICUANAUAYUAD  RIT1908478NANUILTEY
4

EEE T T e ek et e S o

* TABLE OF INPUT DATA *

HEFREEE XL LR REEE LR RES

fmmmmmmmnne fmmmmmmmmee B R :
tRESISTANCE, PHYSICAL !SECTION LENGTH,NORMALIZED 1
'OHMS/MILE | SECTION |OF EQUIVALENT |SECTION LENGTH]
: 1 LENGTH 'UNIFORM FEEDERFOR EQUIVALENT;
! 1 IN MILES {IN MILES 'UNIFORM FEEDER,
e TR—— TR e :
A 1.37010 , 3.90000 , 6.19739 4 0.31623
t 1.,37010 : 3.50000 ! 5.56176 | 0.28380 |
¢ 1.37010 ! 1.50000 ! 2.38361 | 0.12163 !
! 0.86220 | 1.05000 | 1.05000 ! 0.05355 |
! 0.86220 | 2.30000 ! 2.30000 ! 0.11736 |
' 0.86220 : 0.51000 ! 0.81000 ! 0.04133 |
' 0443900 ! 1.70000 ! 0.86558 | 0.04417 !
v 0.28030 ; 0.88000 , 0.28609 r 0.01460
! 0.19570 ! 0.63000 ! 0.14300 ! 0.00730 |
o o . o ;
total ! 16.27000 |  19.59742 ! 1.00000 !
. . ‘ .

<<< Press Any Key To Continue >3>>
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1150.0; 60.0;
780.0; 110.0;
1610.0; 600.0;
1598.0, 1840.0}
1790.0, 446.0)
980.0; 340.0)
1840.0, 460.0,
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*X**t****xt!zlt*#:t*t***x*#*******

* VALUE OF R & X FROM BUS TO BUS =
t:l:*xt:::xxx:xzzx::*t:t::nx::«x*::xa':aslur.:mtx:.

i\ BUS | RESISTANCE | REACTANCE 4 |
: V1N oHMs ! IN OHMS !
P = R :
vl -2 ) 5,34339 ! 3.02640 !
{2 -3 1 4.79535 ! 2.71600 !
{3 -4 1 2.05515 ! 1.16400 !
i 4 -5 1 0.90531 | 0,78860 !
i 5 -6 1 1,98306 ! 1.72760
i 6 -7 1 0.69838 ! 0,60840 !
v 7 -8 1 0.74630 | 1.20500 !
V8 -8 C.24666 ! 0.60510 !
P9 =10 gooSe12829 |1 SO AT2R0

<<< Press Any Key To Continue 3>>
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4 - 4
NN FRuaINR 0L dua Ty

****‘X**t*!xx********x**m**.‘***

* NORMALIZED & REAL DISTANCE *

*x*::**axx::xtxxx:cx*x:*t*xt:m:c*n:

{ BUS | NORMALIZED ! REAL |
H i DISTANCE | DISTANCE |
v 1 ) 1.000000 16.2700
v 2 1 0.883765 ! 12.3700
13 1 0.399964 ! 8.8700 |
V4 1 0.278336 ! 7.3700 |
5 ) 0.224757 ¢ 6.3200 |
v 6 1 0.107395 ! 4,0200
.7 1 0.066063 | 3.2100 |
18 | 0.021885 | 1.5100 |
v 9 0.007297 0.6300 |

<<{{ Press Any Key To Continue 3>>
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{:xxx:xzxxxx****txmxmxxxx::::}

{ BASE VALUE IN THIS PROBLEY }

(*axtx:xtxxxxxxx*s**t«txx:x:a}

BASE VOLTAGE (KV)

BASE POWER (KVA) »
BASE CURRENT (AMP) =

BASE IMPEDANCE (OHMS)

RESISTANCE IN OHM/MILES OF EQUIVALENT UNIFORM FEEDER (r}

<<«

A 2 }
FINVUILLYUN TR ASURASHA TS F_(X)

Press Any Key To Continue

23.
4186.
1035,

126G.

0000
0000

LAV
-] =
L -
Ty

23>

] 4 T s
A1y 7 nlaauule

EXXEETEXNTER R R KR KL

* TABLE OF Fq(X)
EEEE R ERE TR F RN Rk

1.00000000 -
0.68376501 -
0.39996438 -
0.27833554 -
0.22475707 -
0.10738468 -
0.06606272 -
0.02189485 -
0.00729667 -

0.68376501
0.39996438
0.27833554
0.22475707
0.10739469
0.06606272
0.02189485
0.00729667
0.00000000

Any Key To

Continue

0.0629762050
0.1038270891
0.1369508057
0.1742599373
0.335942294¢
0.9334551533
1.1328591956
1.4089573526
2.2344966516
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= C.56220
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* INPUT DATA OF CAPACITORS IN THE FIRST ITERATION *

EEEE LR S+ LTS

AR NN I TR AR ERN TR KRR R ET

EACH CAPACITOF ¥ILL BE INSTALLED AT BACH BUS
THE FIRST BUS 1S AT THE END OF THE FEEDER
NUMBER OF INSTALLED CAPACITORS = 3

KVAR RATING OF CAPACITOR (1) = 460
THIS CAPACITOR WILL BE INSTALLED AT BUS NUMBER

"
—

KVAR RATING OF CAPACITOR (2} = 1070
THIS CAPACITOR WILL BE INSTALLED AT BUS NUMBER = 5

KVAR RATING OF CAPACITOR (3) = 2900
THIS CAPACITOR WILL BE INSTALLED AT BUS NUMBER

"
(+2]

DO YOU WANT TO CHANGE DATA OF CAPACITOR (Y/N)? n

INPUT CONSTANT COST COEFFICLENT OF CAPACITORS

ANNUAL COST PER UNIT OF POWER LOSS IN S/EKN/YR (Kp) = 168

ANNUAL COST PER UNIT OF INSTALLED CAPACITOR IN $/KVAR 3 PHASE (Kc) = 4.9

b < . - - & . o - =
IMUULATANILANLUUATITU A TIEMHIAIRAUIDINTLUIUNTNITY Teaesyile
' . o 3‘4 ﬁl J 1 ‘j “‘ 3
A1389IUA HAZH MWIIAAR IS HUNFR A VALUUT LR TLUUAIA D LHANINTT
- { - w w 4 a f [ { 4 )
TLATITHIUL THUTABURY LRTBIIVWHWHARDENTURATHAY  TauTwal  F_(x) uav

Objective Funetion

LRSSttt RS AT LS £ 13

*

AEEEXEXAXXEEEEEERE XXX KRR RN

<<

AEEERXEEERN KR EX X EE LT X B 0K R

OPTIMUM SIZE AND LOCATION = * TABLE OF POWER LOSSES =

t OPTIMUM KVAR OF CAPACITOR ! ' Before ' after it Losses

e e e L ! Installed | Installed | Reduction
5 462.3317770600 ! ! Capacitor | Capacitor | (kw/kvar}

o o ' s AN S e ity e e
: 1068.9591200000 : ! P Loss | §59.77 |  748.%89 | 110.87
e H (= m———— it ek bttt s et T R L L A
i 2909.1259600000 ' ' Objective Function (§) : 147572.0

Press Any Key To Continue 3>) ¢¢¢ Press Any Key To Continue

AR KRR EEC RN E R E NN

b
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* FIND OPTIMUM LOCATION OF COMMERCIAL CAPACITOR #

LR RS SRR Rt s T TR T LT

RATING OF OPTIMUM CAPACITOR SOMETIME DID NOT COMMERCIAL RATING
THEREFORE YOU MUST SPECIFY RATING OF THOSE CAPACITORS IN THE
COMMERCIAL RATING AND THEN THE RESULT WILL BE THE OPTIMUM
LOCATION OF COMMERCIAL RATING OF CAPACITOR

COMMERCIAL KVAR OF CAPACITOR (1) = 470
THIS CAPACITOR WILL BE INSTALLED AT BUS NUMBER

"
b

COMMERCIAL KVAR OF CAPACITOR (2) = 1070
THIS CAPACITOR WILL BE INSTALLED AT BUS NUMBER

n
w

COMMERCIAL KVAR OF CAPACITOR {3) = 2910
THIS CAPACITOR WILL BE INSTALLED AT BUS NUMBER =

i
o

& a8

' % o . ) 4 :
AR3INULLATAYITATLBUNITHIAIRAUTAIATLUIUN1INT LWAWIR
P w24 - Fd Ay w v aw <« - gy
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t*t:ta:xttx:xt::xxmxxtxt:xzxx::xx:-

* OPTIMUM SIZE AND LOCATION =

x:k:r,a:x::x:\-*xx:kxmxxm*:x:xt*xx*x»z

i BUS | OPTIMUM KVAR OF CAPACITOR !
== T e '
- U 470.0000000000 ;
1o e T P . '
T 1070.0000000000 !
Vol 2910.0000000000 !
€C¢

Fress Any Key To Continue 33>

S

x*x*xx!x****t*l‘**‘***x***

* TABLE OF POWER LOSSES *

*¥X*3**‘***!**!!!*::11!1:*3{!

' : i

+ Before 4 After /| Losses

. Installed ! Installed i Reduction

. Capaciter ! Capacitor v (kw/kvar)
R |mmm———eea (mmm e et T e
. P Loss ! §89YRT 745.60 ! 110.98
|mmm————— R e e Pmm e
3 Objective Function ($) 4 147604.1
e T © S

<4< Press Any Key To Continue 335
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* INPUT DATA IN THE PIRST ITERATION =

S A O S K K K R R R
NUMBER OF INSTALLED CAPACITORS = 3

SPECIFY RATING & TYPE AND BUS OF CAPACITORS
TYPE 0 =xxxx3> IS FIXED CAPACITOR

s TYPE > 0 ==*xxx3; 1S SWITCHING CAPACITOR
INPUT MAXIMUM TYPE OF CAPACITORS = 2

KVAR RATING OF CAPACITOR (1) = 260
INPUT TYPE OF THIS CAPACITOR = 1

INPUT BUS THAT WILL INSTALL THIS CAPACITOR = 1

KVAR RATING OF CAPACITOR (2) = 630
INPUT TYPE OF THIS CAPACITOR z 2
INPUT BUS THAT WILL INSTALL THIS CAPACITOR = 5

KVAR RATING OF CAPACITOR (3) =, 1500
INPUT TYPE OF THI1S CAPACITOR =0
INPUT BUS THAT ¥FILL INSTALL THIS CAPACITOR = 6

INSERVICE TIME(HOURS) OF CAPAICTORS TYPE 0 = S§760
INSERVICE TIME(HOURS) OF CAPACITOR TYPE (1) = 5000
INSERVICE TIME(HOURS) OF CAPACITOR TYPE (2) = 1700

ANNUAL COST PER UNIT OF POWER LOSS IN S/KW/YR (Kp) = 120
ANNUAL COST PER UNIT OF INSTALLED CAPACITOR IN S/HEVAE 2 PHASE (Ke) = 1l5e-3
ANNUAL COST PER UNIT OF INSTALLED FIXED CAPACITOR (Kcfi = 3.5
ANNUAL COST PER UNIT OF INSTALLED SWITCH CAPACITOR (hkcs) = G

4, g 4 . i . 4 i - = . '
Eﬂ?qﬂuulﬂ?ﬂqasﬂﬂﬂﬁTﬁWﬁﬁﬁqﬁaUﬂLﬂu1zﬁNﬂqﬁﬁ1“TUﬁuqﬁ AU

2/

“ e ' - {0 e wr: Ao g <
AARY Hﬂgﬁ?ﬂLqﬁWUTﬂWTﬁaﬂﬁzuﬂ%Lﬁaiuﬁagﬁq WRLIZURRIWARAWGNTARANUYITRANAY

UARINATA YL TIAT uazqutﬁaﬂa@uéazﬁﬂ
XXEXXXIXXAXERXEEEEEXE XX KERX

* RESULT OF LOAD FLOW =

b2 3 3 SRS E ST ST

! PU ANG |

‘' 1 ' 0.85219076 ' -0.11770951 ‘!
! 2 ! 0.87170181 ! -0.10525552 !
3 . 0.90035123 ! -0.08975828 !
! 4 | 0.91781243 ! -0.08067408 |
' 5 ' 0.92735056 ! -0.07321718 |
' 6 ! 0.95519307 ! -0.05173693 !
‘7 ! 0.96787722 ! -0.04316803 |
¢t 8 ! 0.98666958 ! -0.02159951 !
' 9 ' 0.99463955 ' -0.00960933 |
i ; g

LoadFlow After Install Capacitor
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ABITNUUABNWILADTILAMIUHIAIDANINITIRRBDINTEUR

EXEEEREERT RN E

* LINE FLOW =

EXEXEEXET XX XN
1 .9 1] 1 1
h BUS E PU Ir : PU Ix :
' 1 - 2 ! 0.45616632 | -0.05654216 !
v 2 - 3 H 0.71949119 ! -0.12047445
3 - 4 - 1.02195448 | -0.16367332 |
, 4 - 5 ' 1.22200305 , -0.205856545%
P05 - 6 ! 1.63489620 ! -0.24592603 |
6 - T ' 2.02798766 ! -0.35597576 !
v 1T - 8 i 2.46463160 | -0.51501940 ;
' 8- 9 1 2,70007467 | -0.60244497 !
19 - 10 4 3.14092178 ' -0.7171685% |

LineFlow After Install Capacitor

' 4 4 . . - " 2 1Y -
ABIINUULATANICNINITHIRITBDN Objective Function Tvaanuiay

T
HARINARAWTAYL

FERFEXREERFEXFTREL L LR

* TABLE OF RESULT *

T8 O O O N O N R R e

. ) . . ‘
» NO | TYPE | BUS | KVAR ! SWITCHING | IN-SERVICE |
' H : i ! LEVEL(KVAR) |DURATION(PU}!
fmmmee fmmmmee fmmmee R e e ]
F H O YR 261.07 1708.13 | 0.578868 |
H : oo 652.31 | 2534.46 | 0.214345 |
: ] v 6 1 1505.92 | 0.00 , 1.000000 |
4 ANNUAL NET SAVE s 1 6857 |

¢<< Press Anv Key To Continue >>>
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aaﬂwnuuassﬁun111ﬁﬁa§aL1uﬁuua¢ﬁzuﬂ%1Bainunuwasnﬁnuuﬂﬂﬁgwu Ta8
= 1 |¥ : (4 g < W o -
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nunuﬁaﬂaanzuﬂ%xaa1nunﬂtﬁuﬂxﬁunqaLwanqzn11uﬂWﬂad Objective Function
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* INPUT DATA IN THE FIRST ITERATION * .

AEEXE R R R LR AT TR IR AR TR RN E RN

THE CALCULATED CAPACITORS SIZE MAY BE IMPRACTRICAL
PLEASE SPECIFY THE PRACTRICAL SIZE OF CAPACITOR
NUMBER OF INSTALLED CAPACITORS = 3

SPECIFY KVAR RATING OF PRACTRICAL CAPACITORS

TYPE = 0 *xxxx)) IS FIXED CAPACITOR

TYPE > 0 x#=xxy5 IS5 SWITCHING CAPACITOR

THE MAXIMUM TYPE OF CAPACITORS = 2

KVAR RATING OF CAPACITOR (1) = 270
TYPE OF THIS CAPACITOR = 1
KVAR RATING OF CAPACITOR (2) = 660
TYPE OF THIS CAPACITOR = 2
KYAR RATING OF CAPACITOR (3) = 1500
TYPE OF THIS CAPACITOR = 0

Press Any Key To Continue

- x ‘\‘i . - f 1} - 4 4 - ) - g
HANIINUULATANILNINITALRTIEHHIA TR IR UNL VNS HUNTR 10 SR M MUNRAR
§

AXXEEXERERXER KR X R LR ERS

* RESULT OF LOAD FLOW =*

LR E TR E 2 s 2t 4 2

=)
=
0
g
o
»
z
o

: FU VOLT +
{----- e mmmmmmmmennae .
v 1 v 0.85241183 | -0.11798286 |
v 2, 0.87187432 | -0.10544505 |
v 3 v 0.90047986 , -0.084987706 |
v 4 1 0.91792216 | -0.08076430 |
v 5 ¢ 0.92744814 | -0.07329592 |
v B 1 0.95524099 | -0.05176281
v T v 0.96791430 | -0.04318324 |
v 8 + 0.98668627 | -0.02160439 ,
V9 ) 0.99464627 | -0.00961094 |
] 1]

LoadFlow After Install Capacitor

<< Press Any Key to Continue »>
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' 4 v e 4 'S
AR UAAS T LIRNYTALTHR D

R R

* LINE FLOW =

TEXFTXEXXRXE RS
: BUS | PU Ir J PU Ix ¢
it fmmmmmme e fmmmmmm e '
' 1 - 2 ! 0.45624951 | -0.05511853 |
' 2 - 3 !, 0.71951016 ! -0.11878841 |
t 3 - 4 % 1.02192506 ) -0.16201702 |
V4 - 5 1 1.22194565 | -0.20692456 |
! 5 - €& | 1.63491916 ; -0.245580%4 |
v 6 - 7T 1 2.02791921 , -0.38394913 |
' 7T - & ) 2.46454445 | -0.51298443 |
'8 - 9 ' 2,69998310 ! -0.6004186% |
‘9 - 10 4 3,14082705 4 -0.71514324 !

LineFlow After Install Capacitor

] z 4 - i 3 . .
ADAINUBULATANIENINIGIHIRNTEY Objective Function ERLEARIb

Fe P o ' o v
LﬁafnuﬁuqannnuwaaﬂunL111a§a§aaniﬂﬁuaauuﬁnﬁﬂuaaqn11

FEXEEXXAXXXK AL XXX R XKL

* TABLE OF RESULT *

EF S EE RSS2 1T

L} 1 1 L} 1
{ NO | TYPE | BUS ! KVAR | SWITCHING | IN-SERVICE |
. i H ! ! LEVEL(KVAR) !DURATION(PU))
LI D - 270.00 ! 1730.51 | 0.56899S
¢t 2 2 ' 5 f  660.00 ! 2553.74 | 0.205840 |
T3 4y Q0 Y 6 ! 1500.00 0.00 | 1.000000 |
. ANNUAL NET SAVE $§ ; 68758 -t

<<¢ Press Any Key To Continue >>>



AMRUUIN 3

[T} . niﬂ. - -
- TEUUTEKEY 13 KV nuaawauud 12 ud

=5 ¥ - 'y ' o a '
ﬂﬂﬂ@ﬂzuﬂﬁlﬂaTuUUGQQQﬂluﬂﬂaﬂqﬂLaﬂ?

o ' H w £ o . Vo
TURIB8IIURLUAASTHLAUOSNITA TRV IAIN LU IS AUTBS U6 WAZHT
"43 [ 5 “d . i w o A
unddARATasALuUR IR TAU TS UL IHY Y 13 kv UREHITVIVUANANG 12 Ua A

a & w -1
WITIHLRBIRIY 9 adadTdu

Bus R({Ohms? Xt0hms> Load(Kvar
1 0.07550 0.15200 530
2 0.11300 0.22800 430
3 0.12800 0.25400 700
4 0.08190 0.16500 275
5 0.40700 0.21800 220
6 0.15200 0.15500 1085
7 0.10600 0.10800 0
8 0.16700 0.17100 1884
g 0.41000 0.41800 170

10 0.RZ2000 0.BIEOD 420

11 .04480 0.08750 243

12 0.01040 0.00870 0




Bus Normalized Real
Distance Distance
1 1.00000 12.00000
2 0.96996 11.00000
3 0.92500 10.00000
4 0.87488 8.00000
b 0.84229 8.00000
6 0.680379 7.00000
7 0.818808 6.00000
8 0./577737 5.00000
g 0.511289 4.00000
10 0.348186 3.00000
11 0.021861 2.00000
12 0.004137 1.00000

() i 4 " ] 1 r i g
1%H?Bﬂﬂﬁﬁk11?31ﬁﬂﬂﬁﬁu (Base Value: A1y 9 svma’lui

Base Voltage (EV: =13
Base Power (KVA» = 6157
Base Current (Amp) = 273.44

Base Impedance (Ohm) = 27.44

w ' 4 & 7] .
AramaunIviumens Jawu/Tua p1avd18daw Equivalent

Uniform
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' " £ q..: s 2 as
ATAIRBUDAYTHAATHAINAUN I TARAIASUUTLRE TIZWTRA 4

Bus p.u. Volt p.u. angle
| 0.92885 0.0667326
2 0.92%32 0.0664839
3 0.93068 0.065786
4 0.93334 0.064382
5 0.823546 0.063267
6 0.92860 0.057071
7 0.94189 0.053682
8 0.94420 0.051332
9 0.94989 0.045581

10 0.96439 0.031300

11 0.99617 0.001938

12 0.99964 0.000383

44 A i w0 o o
TUNLLTIIENIMUARIASAIATS ] AIU
Annual Cost Per Unit of Power Loss ($/Kw/Yr)

Annual Cost Per Unit of Installed Capacitor (s/Kvar 3 ¢)

£/
|

U
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L11?3&Tunﬂﬂ1191u1uu1ﬂ1ntuu1=ﬁunqa§1wiuazuﬂﬁz931 TABLI13L

]
-

i) - B { . g - it -4 " -
lTNEH?qﬂHWTQEHﬁﬂzuﬂalﬁﬂﬁ?qu?u 1 87 WAGAINUURLLUUNITRARY 2 UAY 2 A9
. o : - VoA W . . N & [
ATHa8U %ﬂ111?znaﬂﬂ%uﬁﬁ1LTuHuTuﬂﬂinﬁ Iteration dqﬂTUQSHU%lﬁﬂﬁlﬂﬁﬁﬁ?

LABIA IR TUL

REUITIRT 1 B2

{ a o " "
TUIRDAIALUUTLRATLTUAL = 500 KVar

qﬂ..,..}
ﬂaﬁeaguunﬁﬂ 1

- < oo, . < = iy '
wavIntinviananis  Iteration ALUHAZILTIURD LT138WIRIDDY

{ o & { w v o
THAATWRMMASIINARAIRZUUT L RB TR TR A ik

Bus p.u. Volt p.-u. angle
1 0.97816 0.020191
2 0.87858 0.019964
3 0.97988 0.0182307
4 0.98241 0.018031
5 0.98442 0.017018
6 0.98741 0.011419
¥ 0.98666 0.012197
8 0.98613 0.012740
9 0.98724 0.011680

10 0.99039 0.008664

13 0.99883 0.000638

12 0.99989 0.000122
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& o . ' ve Y
M9 TIR N TRAIRILKARTIDEY Fq () 1861

Bus Fq(x)

1-2 0.0551831
2-3 0.1004458
3-4 0.17653586
4-5 0.2200718
5-6 0.2470074
6-7 0.4449850
7-8 0.4448850
8-9 D0.7534085
9-10 D.7837283
10-11 0.8844021
il sl 1.99080383
12-Sub 1.9908039

" i o« A4 L wva
uaz?zﬁ1uﬂ1ﬂﬁ191ﬂWﬁauﬂa4ﬂuﬂﬂua=ﬁ1uﬂudﬂtﬁuﬂzﬁuﬂqﬁlﬂﬂa

4 4
ﬁu1ﬂntnu1zﬂunqa

w ¥ Ay d
ARRNNUALATN =

Objective Function

4283.46 KVar

B

27113.3
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< 's w
UYTLRAT 2 BRI

1000 KVar

. a. e
IWIRTANAZUUTLRBTLINAY (1)
A% i oA '

AaRvaBuuiian 3 .

{ & w
BTUIATANAZUUBLABT L TNAR (2)

2000 KVar

- 3 v -r 4
ﬁaﬁﬁaguuuﬁn 6

- < v, . < =4 @ '
wadINNLI11anIN1g  Iteration AULUUNARAILTIUAT LT13EWIAT DAY

{ . 2 { w ve X
THARTUR IR INAAR YA YT LAB TUA I TAR YL

Bus p.u. Volt p.u. angle
1 0.98124 0.017493
2 0.98170 0.0172865
3 0.882300 0.016612
4 0.98273 0.016754
5 0.98292 0.016659
6 0.98347 0.015609
7 0.98488 0.014213
8 0.98586 0.013241
9 0.98700 0.012123

10 0.98022 0.008965

1] 0.99881 0.000659

12 0.99989 0.000125




ML T TR ILINMIA T8 Fq(x) TR

Bus Fqix)

1-2 0.0625565
2-3 0.1139591
3-4 0.2008125
4-5 0.2469598
5-6 0.2741810
6-7 0.4173888
7-8 0.4173888
8-9 0.7098115
9-10 0.7385984
10-11 0.8244664
11-12 1.8888690
12-Sub 1.8888690

Ve i o < va
uazﬂ:ﬁ?uﬂ1ﬂﬁ191ﬁWHﬂUﬂadﬁuﬂﬂuazﬂﬂuuuﬁnLﬁﬂﬂ:ﬁﬂﬂ%ﬁ?ﬂﬂa

< <4
ﬂuTﬂﬂLHN"ISﬁuﬂifﬂ (1)
a U de <
RARAINUALATIN =

4 4
nu1antuu1=ﬁun§a (2)

a ¥ oQ., 4
ARRINUALADN =

Objective Function

1]

1895.65 KVar

3

2355.92 KVar

8

25167.2
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IUIATANALUUTIADTL TUAY (1)
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aﬂnqaguuuﬁn 2

{ & w
UNRTANALUUTLARATL TURY (2)

" o

- o <
aamaguuuﬂn 4

{ o w
TWIRDAYALUUTLABTL TUAN (3)

w B id
aanqaguuuﬁn 8

o < w . / ‘fl € w
#avIInNLs1lanIn1T  Iteration AntyUuwag 1L TIUA"

& As '8 L1
THRATHAINASIINAARIAUUTLRETUA T AG 1L

i

1000 KVar

1000 KVar

2000 KVar

Bus p.u. Volt p.-u. angle
1 0.98137 0.017200
2 0.38182 0.017073
3 0.98180 0.017091
4 0.98284 0.016566
5 0.98293 0.016527
6 0.98333 0.015753
7 0.98463 0.014460
8 0.98554 0.013559
9 0.98671 0.012405

10 0.99002 0.009155

11 0.99879 0.000671

12 0.89988 0.000127
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MIRLTIEINITNAIUINEIATTBY Fq(x) TaA i

Bus Fq(x)
1-2 0.0636565
2-3 0.1159663
2-4 0.2010324
4-5 0.2480009
5-6 0.2756170
B-7 0.4184514
-8 D.4184514
8-39 0.7059555
8-10 0.7342798
10-11 D.8287803
=12 1.8713633
12-Sub 1.8713633

Ll . o i 4 CJ 5 11y
ua:azmmmwm'19waauaawmﬂuazmtmmnmuw:ﬁunqﬁ‘mﬁa

< 4
ﬂuﬁﬁntnuwzﬂunqﬂ (1)
o 2 da d
ARANNUALARIN

4 4
nu1antnu1:ﬁun§a (2)
o ¥y 4
ARANNUALATIN

< 4
3uﬂantnn1zﬁunqe (2)
a ¥ do o4
ARAYNURLATN

Objective Function

1002.47 KVar

2

1010.36 KVar

4

2206.26 KVar

8

25008.6
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Bus R(Ohms) | X(Ohms) Load(Kvar)
1 0.18340 0.11340 600
2 0.14541 0.0B8891 300
3 0.34181 0.21141 200
4 0.17947 0.11097 1400
5 0.10710 Bi:DTTE 100
6 0.02785 0.08165 100
7 0.02876 0.01927 0
8 0.03060 0.02050 100
9 0.02142 0.01435 100

10 0.04284 0.02870 0
11 0.02754 0.01845 600
12 0.01224 0.00820 100

13 0.01224 0.00820 100

14 0.00918 0.00615 100

LWAYH

< . ...3 - w o
HWAzHITWIUUANIWNG 14 UR &SR



Bus Normalized Real
Distance Distapce
1 1.000000 T.D53500
2 0.843243 £.13500
3 0.718956 3.02500
4 0.426715 2.41500
5 0. 272317 2.04500
6 0.181775 0.69500
7 00157975 0.60400
8 0.1333893 0.51000
9 0.107234 0.41000
10 0.088926 0.24000
11 0.052209 0.20000
12 0.028770 0.11000
13 0.018308 0.07000
14 0.007847 C¢.03000

[

s 1 ¥ E TN ] - i . oy
1um1aanﬁziﬂzz?ﬁ91§1u (Base Value' 814 1 &vmroldu

Base Voltage (KV» = 12.5
Base Power (KVA) = 2800
Base Current (Amp) = 175.51

Base Impedance (Ohm: = 41,11

o ' { { £y A - =
AINAUNIRTunas Taws/lus pevdnslau Equivalent Uniform = 0.131
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A1ATRDUAASTHAATWAINAUN 1 THARSACIUT LEET A8 TRE 91

Bus p.u. Volt p.u. angle
1 0.98173 0.012848
2 0.99216 0.012125
3 0.99268 0.011274
4 0.93418 0.008835
5 0.99588 0.005935
B 0.88718 0.004142
7 0.88751 0.003658
B8 0.98785 0.003158
9 0.98822 0.002608

10 0.989849 0.002210

11 0.938903 0.001413

12 0.89945 0.000795

13 0.98965 0.000513

14 0.98984 0.000223

4

A% ; o 5
TN, TIAEAMUAAIAIEIANY T 69l
Annual Cost Per Unit of Power Loss ($/Kw/Yr) = 168

Annual Cost Per Unit of Installed Capacitor (s/KVar 2 ¢ = 4.9



a . . v« < 5 w - £
T3S LTUNINITA U IUN AN LR e dUNAQA WS URSU U LEES
5

Tafila1ay

o w A a { . o e o = o 5 L e
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AINATRY 4

o ]
Ladeaaa Uy

- '8 e
reyilyieaT 1 B

¢ a w
ﬂHWﬂﬂaﬁﬂsuﬂaLﬁaﬁLﬁuﬁu

- T
ﬁanqaguuuan 1

w P [ YN [ e " [ 50
PANRINNLSVIANINT - Tterabion  3uLUBHARILT3UARA

YLTIILTANIMBAATL THAUTLNTN

= 500 Kvar

':‘ i o U wres o
THAATHAYHA YA INARAIASUUT L A IuaTas i

Iteration

H i £ .
A S URSUUTLADS L g Y87

LSIIEHAAT0 Y

Bus p.u. Volt p.u. angle
1 0.99422 0.008928
2 0.99466 0.008217
2 (.899482 0.007945
4 0.98549 0.006864
5 0.99684 0.004677
6 0.98776 0.0032086
i 0.98801 0.0028:z2
B 0.88827 0.002547
9 0.99856 0.002117

10 0.99878 0.001802

11 0.99920 0.001173

12 0.89870 0.0006863

13 0.98987 0.000428

14 0.99989 0.000187

190



. il - ¥ Al we L
NITHLSIAWITDAIUINGBIR1DEY Foix Taasy

Bus Fgoxo
1-2 0.0658064
2-2 0.1015398
3-4 0.1261720
4-3 0.3256213
5-8 0.3465112
6-7 0.3760185
7-8 D.3760185
8-3 0.4142046
3-10 0.4603524
10-11 0.4802524
11=%g 0.9584172
12-13 1.1051345
13-14 1.3218632
14-Sub 1.8514178

1 . i v A ;g id
uazaz;ﬁu’mnmmnwnaunawmmmzanmmwmmzﬂmgﬁ iRA?

4 4
ﬁuﬁﬁntﬁuwzﬁunQB = B16.810 KVar
o o odo o
ARANINUALATN =2

Objective Function 5737.40



<y & wr
REUUTIRET 2 B

{ s
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BQRQBQUHUﬂﬂ I}

{ a w
ﬂﬂqﬁﬁﬂﬁRSUﬂaLﬁaﬁiﬁﬂﬁu {2)

a U a1 o d
HGHQBQUUEﬂﬂ 6
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wagnnL i tananag

Iteration

&% i, { v we M
THQQTNR?%RQQ1HHHHQRSHU%Lﬁﬂiﬂﬂ?lﬁﬁﬁﬁ

400 KVar

1000 KVar

= . (-4 [
ALUUHARIL T UG

Bus p-u. Volt p.u. angle
1 0.98447 0.00B370
2 0.89462 0.008314
3 0.990492 0.007830
4 0.%9588 0.008248
5 =9 0% 0.004284
B 0.98794 0.003045
i 0.98817 D.002706
] 0.99840 0.002255
9 0.98867 0.001962

10 0.99886 0.001875

11 0.88825 0.0010898

12 0.999857 0.00062¢2

13 0.99872 0.000402

14 0.99988 0.000176

STNRENIANT O
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MWL TIR W TNATINILKIAIBEY Fq(x) TR

Bus Fq(x)
1-2 0.0652218
2-3 0.0988441
3-4 0.1226320
4-5 0.3310866
5-6 0.3527771
6-7 0.3832827
7-8 0.3832627
8-9 0.4226563
9-10 0.4699097

10-11 0.4699097

=12 0.9762323

12-13 1.1251005

13-14 1.3549001

14-Sub|  1.8808735

[ - . JJ J L |
uazazﬁ1u11ﬂwﬂaﬂn1aannaqnuwauazawuwuqntuuwzﬁunqﬂ1nﬂa

d 4
nuﬂantuu1zaunqﬂ (1) 387.814 KVar
R 4

ARRINUFALAEN = 4

421.091 KVar

4 4
nu1anlwuﬁzaunqa (2)
a ¥ d 4

ARRINUALADN = 4

Objective Function 6353.20
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IBIRTAIACMUTLADTL THAL (2)

qﬁ....d
ﬁnﬂqaguuuﬁn 7

{ a w
IWATBIAZHUTLRATLINAL (3)

a ¥ 4 oA
aaaqaguuuﬁn 8

e 4 8 . - = L
wavaanniintanins Iteration ?ulﬁui\lﬂﬂ,ﬂli’ﬂlﬂ?

{f w o inh { w ve 4
TﬁﬂﬁiWaanaqaﬁnnﬂaqazuﬂ%Laa1ua11aaqu

I

2300 KVar

600 Kvar

B0O0 KVar

Bus p.u. Volt p.u. angle
;! 0.99445 0.008591
g 0.994867 0.008237
3 0.99501 0.007675
4 0.99588 0.006270
5 0.99710 0.004298
6 0.99793 0.003055
7 0.99816 0.002714
8 0.99840 0.002362
9 0.99866 0.001868

10 0.99886 0.001679

11 0.99925 0.001101

12 0.99957 0.000624

13 0.99972 0.000404

14 0.99988 0.000176

LT13EWIADDY
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AL TIRINITARIUIUNIRITEY Fq(x) TR

Bus Fq(x)
1-2 0.0648930'
2-3 0.0987243
2-4 0.1223224
4-5 0.32300873
5-6 0.3516486
B-7 0.3819587
7-8 D.3819587
8-8 0.4211319
9-10 0.4681259
10-11 0.4681259
11-12 0.9718503
12-13 1.1199650
13-14 1.3486120
14-Sub 1.8719712

V. . ¢ e < e
BAZATAMITONIAIAIRBUTAITUIAUASA MM AN ERUNTRTAAD

I

4 4
ﬁu1antnuﬁsﬁunqa (1) 304.274 KVar
“34;0 4

ARRNNUALADN = 1

164,061 KVar

4 4
3u1antnu1:ﬁunqﬂ (2)
a B do d

AARNNUALATN = 3

333.836 KVar

4 4
pIANLMIIEENNER (3)

P 4
ARANNUALATN = 4

Objective Function 6287.2
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Truuiidn 13 KV nusauauld 12 Ud
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ARAIAZLUTLRATULUNEAN

[ ¥ ] s d - . I 4
1A HITU ARSI AR SN TAIBIBAIA M L RRIERUD B TUR
ik 4 p i -
UALSHARIDDAZUUTL AR TN UTZUUTHEY 13 kv wRsdawanldnesia 12 id

a i o -1
WAITIMLRETANY 9 avaaTUu

Bus R(Ohms) X(Ohmns) Load(Kvar:
1 0.07550 0.15200 530
2 0.11300 0.22800 . 430
3 0.12600 0.25400 700
4 0.08130 0.16500 375
5 0.40700 0.21800 220
6 0.15200 0.15500 1085
7 0.10600 0.10800 0
8 0.18700 0.17100 1884
9 0.41000 0.41800 170

10 0.82000 0.83600 420

11 0.04480 0.08750 243

12 0.01040 0.00870 0

UAYAT

w  u o
RIHAN



Bus Normalized Real
Distance Distance
1 1.00000 12.00000
2 0.96996 11.00000
3 3 0.92500 10.00000
4 0.87488 3.00000
5 0.84229 8.00000
6 0.680379 7.00000
T 0.619908 6.00000
8 0.577737 5.00000
9 0.511299 4.00000
10 0.348186 3.00000
11 0.021961 2.00000
12 0.004137 1.00000

uii881901 713 17A1571 (Base Value) 14 7 #<AaTUid

Base Voltage (KV) = 13
Base Power (KVA) = 6157
Base Current (Amp) = 273.44
Base Impedance (Ohm) = 27.44

= [ 'S s . %
fArrua N IuTuweIe Tanu/Tua pavdnatlan Equivalent Uniform
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AVARALTBYTHARTHAINABAITAARIAZIUT LRI TAB Y

Bus p.u. Volt p.u. angle
1 0.92885 0.066736
2 s 0.92932 0.066488
3 0.93068 0.0685786
4 0.93334 0.064382
) 0.93548 0.063267
6 0.93860 0.057071
i 0.94189 0.053682
8 0.94420 0.051332
9 0.94983 0.045581

10 0.96439 0.031300

11 0.98617 0.001938

12 0.99964 0.000z82

43 - ] - ] - 3
TUNURLTIILNINRARTAYAIAIY 7 AU

Annual Cost Per Unit
Annual Cost Per Unit
Annual Cost Per Unit

Annual Cost Per Unit

of Power Loss ($/Kw/Yr) = 120

I

of Energy Loss Reduction ($/Kwh 3 ¢) 0.
of Installed Fixed Capacitor (Kecf) = 3.5

of Installed Switched Capacitor (Kcs) = 6

015
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A w W e (. - o 2 = o o . e
L1NHH?1ﬂﬂ11ﬂﬁﬂ¢ﬂ5ﬂﬂalﬂﬂiaqu1u 1 A7 WARIIINUUIZLUUNTIRAEY 2 HIRITURIAL
J w & & . . . 4 l...“ 'il . wms
TaanNL 913z udaITIi NN 9AN Objective Function nuanNRI4AULINDLTILURBUAAL

a L 1w w A ) A w we 4
ﬂWTHTERQﬂBQQ5uﬂ%$ﬂai“ﬁazﬁ? ANUURLTIREEUNINNIATAN Fagix) LSRRG

2 Bus Fa(x)
1-2 0.0860808
2-3 0.1559200
3=4 0.2696118
4=5 0.3305181
5-8 0.3662497
BT 0.54247189
7-8 0.5424718
8-9 | 0.8484651
9-10 0.8760760

10-11 0.9442910
11-12 1.0000000
12-Sub 1.0000000
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LUYTIRET 1 B7

{ & v
IUNADANATUUTLABTLINAY = 500 KVar

&
a e

T [ s
AARvagURiian 1 LuAzuUTLRaTULY 1

- 4 o, i 14 4 [
MRYIMNLI1IaNINTT  Iteration 3uLUuHAZILTIURD LIIIEWIADN

4L o . i ve X
THRAGTUR IMASRINAARYAUUTLRB TR IR E Sk
-+

Bus p.u. Volt p.u. angle
1 0.97231 0.023547
2 0.97278 0.023321
3 0.97409 0.022666
4 0.97566 0.021382
5 0.97468 0.021885
6 0.97500 0.023779
4 0.97522 0.023464
8 Uo7 103 0.023244
9 0.98365 0.020944

10 0.98814 0.014811

11 0.98982 0.0010186

12 0.98982 0.000185

| T - 14 4 R
HRZALAWITONIAIAIRBUDE TUIAUALH WAL LR AUNERTRAD
IUIANLMNEAUNAR = 3150.52 KVar Aefsiilidiani = 4
JLAUNTITHIAGY = 2103.96 #2491737UTA1T = 0.701374

Objective Function = 27339
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{ & wu
TUIATDIALUUTLRATLINAY (1)

«B..,A -4 Fs
RARvaguuiidn 1 vUvAzuUZLRATULY 0

(A w .
MWIRTDIALLUTLRATLINAYR (2)

ﬁzaud = 3 Fi
aaﬁqaguuuﬂn 3 tduazudtiepuuy 1

. 4 ;
WAIIIMNLT1IRRIN S

Iteration

S P { w v 4
THAATHAR MMANIINARRYALUUT LRE TUA L6 6 il

o= -4 L%
ULYBHRRIL TIURD

500 Kvar

1000 KvVar

Bus p.u. Volt p.u. angle
1 0.98244 0.016219
2 0.98289 0.015894
3 0.98419 0.015348
4 0.98356 0.015675
5 0.98352 0.015700
6 0.98377 0.015233
¢ 0.38332 0.015677
8 0.98301 0.015987
9 0.98447 0.014547

10 0.98846 j 0.010603

11 0.99862 0.000760

12 0.98987 0.000144

LS1RERIATDB S

O . ld 4 TR |
uazﬁzﬁ1n11nw191ﬂﬂaaunaqﬂuﬂauazaﬂuﬁuqntﬁu1=ﬂunqﬁ1993

4 4
nuﬂantnuw=ﬁunQQ (1)

TLAUNITAIREY = 0 T29L7RIUTNT

4 4
au1antuu1:ﬂun§a (2)

TERUNITAIREY = 3529.43 §29178707017 = 0.2723848

Objective Function

= 2131.85 KVar ARAYNUALAIN

o, M e 4
= 1805.22 KVar AAAYNUALADN

= 46635

1

"

3
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202
{ 4
_IUIABANALZUUBLRATLINAR (1) = 500 KVar

A: Ty 4 {
aanqaguuuin 1 iduRzuUg L RaTHLL 1

£ o
DUIRTANALUUTIAATLINAL (2) = 1000 KVar

‘\::le 4
ﬂﬂﬁﬁaguuuﬁn 3 Lﬂuﬁzuﬂﬁtaaiuun 0

- < v, o < o iV '
WA43IINNLT1IANINT  Iteration 3IuLUBHARNLTIUAD LITIEWIRDE S

sl g ar M { i &
THARTHA MR IR INARRIALUUT LR TUA 2167 91

Bus p.u. Volt p.u. angle
1 0.98407 0.015630
2 0.98452 0.015406
3 0.98376 0.015795
4 ‘ 0.98399 0.015687
8 0.58451 0.015431
6 0.98549 0.013566
7 0.98490 0.014155
8 0.98449 0.014568
9 0.98578 0.013296

10 0.98938 0.009758

11 0.99873 0.000708

12 0.99988 0.000134

- .4 4
UATITA W TINIAIAINAUDA VIR IAUALH Winkan LI RNNTA TARa
4 4 e B e o
DUIRNLMNEAUNAR (1) = 1548.92 KVar AeReniidiasn = 2

YAUNTITAIATY = 3672.68 H929L7A709019

0.230B885

a4 4 ¥ odo "
nuﬂanlun1=ﬁunqﬁ (2) = 2542.58 KVar AAANNUALADIN = 6
TLRUNNTHIAEY = 0 H2912R709017 = 1

Objective Function = 48993



{ a .
IUIADAIALUITIAATLINAR (1) = 500 KVar
i P e W g {

AARva guuiian 1 viuAzuUg LR TUYL 1

{ & w

UNRDBIALLUTLRATLINGY (2) = 1000 KVar

Axlun‘ {
RARvaduiian 3 LiuasniT L aaTuuy 1

- < . . g e w '
HAYIIANLTIANINAT  Iteration 3ULYUHARILTIURD LI13EWIATDaY

Y - { v ve o
THaRTHANRIIINARBIALUUTLADTURVTAR 91

Bus p.u. Volt p.u. angle
1 0.97875 0.017418
2 0.97920 0.017191
3 0.88051 0.016541
4 0.98304 0.015274
S 0.98197 0.0158¢29
8 0.98085 0.017369
7 0.981086 0.017759
8 Ui 1 0.017612
9 0.98286 0.015981

10 0.98735 0.011570

11 0.99852 0.000817

12 0.89986 0.000156

[ - ld 4 L |
uazﬂzﬁﬁﬂﬂinﬂ1ﬂ1ﬁﬁﬂﬂUﬂaQﬂuﬂﬂ%ﬂzﬁﬂuﬂuﬁnlﬁﬁﬂzﬁuniﬂTﬂﬂa

o < i A <
TUIRTLANEANER (1) = 3221.10 KVar AARNNUALADIN = 4

TERUNTITAIAGY = 2348.61 §249178709077 = 0.627997

4 d < ¥ odo d
nuwantnuﬂzﬁunqa (2) = 538.79 KVar RARYNUALAIN = 8
TERUNTTRIASY = 2348.61 #291787090719 = 0.627997

Objective Function = 29554
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TruniNn 12.5 KV nudawauiid 14 14

PP Y| v & . |
TUAIBATIUILURAY T LURA SN I TATRIVKRIA ML UL IS AN TS DUR

v
- I's
RaRIAzUITL AR TUUUHEN

- s
UMRIRARITAYATLITIABSAUTE UL TWWA 12,5 ky

a £ - i 4
WITTHLABTATY 9 admaTludu

Bus R{Ohns) X(Ohms) | Load(Kvar)
1 0.18340 0.11340 600
2 0.14541 0.08991 300
3 0.34191 0.21141 200
4 0.17947 0.110897 1400
5 0.10710 0.07175 100
6 0.02785 0.08165 100
7 0.02876 0.01927 0
8 0.03060 0.02050 100
9 0.02142 0.01435 100

10 0.04284 0.02870 0

11 0.02754 0.01845 600

12 0.01224 0.00820 100

13 0.01224 0.00820 100

14 0.00918 0.00615 100

HRLA

a . s wi a w
HREAIMLIULANINNG 14 UF AdURN



Bus Normalized Real
Dist.ance Distance
1 1.000000 7.53500
2 0.843243 6.13500
3 0.718956 5.02500
4 0.426715 2.41500
S 0.273317 1.04500
6 0.181775 0.69500
7 0.157975 0.60400
8 D.133389 0.51000
9 0.107234 0.41000
10 0.088926 0.34000
11 0.052308 0.20000
12 0.028770 0.11000
13 0.018308 0.07000
14 0.007847 0.03000

- L H ] 1 - ) “HJ
1uaaa51¢ut71a:1§nn§1u (Base Value) f14 q avaaliu

Base Voltage (KV)

Base Power {(KVA)

Base Current (Amp)
Base Impedance (Ohm)

w [l Fy s = . -
AIHAIMNIRTRARIE Taun/1ua 1avd18Uaw Equivalent Uniform

12.5

3800

I

175.51

41.11
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1 - 2. s i - : 4
AR IRDUTBSIHAGTHAINAUN T TAARSAIUT L RATIENTAR I

ar

-

Bus

10

11

12

13

14

p.u. Volt p.u. angle
0.99173 0.012846
0.98216 0.012125
0.399268 0.011274
0.95418 D.008835
0.89598 0.005935
0.98718 0.004142
0.98751 0.003658
0.99785 0.003159
gs08h22 0.002608
0.93849 0.002210
0.98803 0.001413
0.988945 0.000795
0.98885 0.000513
0.938984 0.000223

45 . ' w - 3
TUNULTIILNTARARTAYAIATY 7 RGN

Annual Cost Per Unit
Annual Cost Per Unit
Annual Cost Per Unit

Annual Cost Per Unit

of Power Loss ($/Kw/¥r) = 120

of Energy Loss Reduction (s/Kwh) =0.015

of Installed Fixed Capacitor (Kef) = 3.5

of Installed Switched Capacitor (Kes) =

6
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L51?3LTRHWHWTHWHTuH191nlﬁﬂﬂsﬂuﬂiﬂﬁﬂﬁ?ﬂﬂzuﬂ%Lﬁai Ja8L1113¢e

a w s ¥ i. s
LTHH%Q?ﬂﬂTTﬂQﬂQﬂzuﬂalﬁﬂﬁa1%1% 1 8?2

w

WadINIBIL L

=4

UNTSHARY 2 BIRINATRY

-4 v e o . . . - T | < . w
IRENL T3 URANTHLAUA IR Objective Function MNUANRIINULNDLIILURBUARTIAY

a « ! ar: a5 i 4, v vo 4
N19A 18T 91R9ALUURIAATURASEY  ASTiML TIREEIN1TOMNATT8Y FQ () n1deelafeil

Bus Fq(x)

1-2 0.1578947
2=3 0.2368421
a-4 0.2894726
4-5 0.6578947
5-6 0.6842102
6-7 0.7105263
-8 0.7105263
8-9 0.7368421
9=10 0.7631578
10-11 0.7631578
11-12 0.9210526
12-15 0.9476368
13-14 0.9736842
14-Sub 1.0000000
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U3 iRas 1 B2

& a w
W16 BAIALUUTIADTLINAY = 500 KVar

a5 a3 P | o Fy
ﬁaaqaguuuﬁn 1 duszuiBiaasuuy 1

- o !; . . -4 [ Y] fl
Wadanni11lan1nng Iteration 3IuLUUMARILTIURD L9138 IA T8 Y

o e a o { w o 4
TMasTWARAYRINAARIAZUYTLRETUA VIR $1L

Bus p.-u. Volt p-u. angle
1 0.99588 0.006328
2 0.99631 0.005621
3 0.99624 0.005732
4 0.99635 0.005551
5 0.99741 0.003838
6 0.58814 0.002750
T 0.99834 0.002449
8 0.389855 0.002139
& 0.59879 0.001788

10 0.99896 0.001530

iz 0.98931 0.001014

12 0.99961 0.000576

13 0.99974 0.000373

14 0.98986 0.000163

" - - ) 4 4 wag
LAZIZHINITONIAAIRBUT A TUIANASH WML ZJUN AR TRA
nuﬂantmu1=ﬁunqﬂ = 1025.08 KVar mRaRdnudiamm = 2
TEAUNNTRIAEY = 0 f9917a703019 = 1

Objective Function = 1311



&Y 'S v
“UYYIRET £ R2

{ o v
WIATANAZHUBLRBTLINAL (1) = 500 KVar

a B o =4 a {
aaﬁﬁaguuuﬁn 1 tduazudgiaasuuy 0

{ & w
WUNADAIALUUTLABTLINAL (2)

1000 kVar

qﬁ-.,-ai [ a £
aaﬁeaguunﬁn 3 tduRzudvLRaTUUY 1

- fl o, i [ =4 v
WavIanti1lanInnT  Iteration IMLUUHARILIIUAD

{ . a“ D £ T
THAf THA AN INARRSAZUUB LABTUR LTS

Bus p.u. Volt p.u. angle
1 0.99650 0.005375
2 0.98693 0.004668
3 0.99685 0.004803
4 0.99692 0.004679
5 0.89779 0.003281
) 0.99839 0.002379
7 0.998856 0.002127
8 0.99874 0.001867
9 0.99894 0.001571

10 0.99086 0.0012350

11 0.998938 D.000907

12 0.99965 0.000517

13 099977 0.000336

14 0.99850 0.000147

LTIREWIATA S
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[ - . ] 4 Q‘ s
uazizﬁwu11nﬂﬂaﬁﬁﬂnanaaqnu1auasaﬁuﬁu¢nLwnﬂzﬁunQQTﬂﬁa

7
o

n

4 d - R w Y odu 4
PUIANIUUICEUNER (1) = 1049.55 KVar #ARINUALADT
§

TLRUNITAIAES = 0 E2919R709009 = 1

]
Py

4 i AP ode . d
WeNLANYANNR (2) = 247.060 KVar AaRsilidiani
TERUNTTRIAGS = 1821.20 ©9919R907A1T = 0.544522

Objective Function = 2654



{ o u
UIATAIALUUTLABTLTNAL (1) = 500 KvVar
cows me e -4 a {
aaa@aguuuﬁn 1 vduasnddiaaguuy 1
( < wu
TUIADBNASUUTIABSLINAL (2) = 1000 KVar
z LI v
A

4 = I'e
safuniiEn 3 tUuAzuULaaTUUL O

W

AR

-t d \i}. - d (=4 ;=
WAIRINNLT1IaNIN1T  Iteration 3uLUUWARILTINAY

&  a 3 { w y.,”
THRATHA MR IR INAARIAZUIT L A D TUA 1 TREA 91 ¥

Bus p.u. Volt p.u. angle
1 0.93670 0.005047
2 0.99693 0.004679
3 0.99728 | 0.004106
4 0.98638 0.004586
5 0.99783 0.003221
B8 0.98842 0.002340
7 O—o08bd 0.002093
) 0.99876 0.001838
9 0.98835 0.001547

10 0.99910 0.001330

11 0.99939 0.000896

12 0.989965 0.000511

13 0.99977 0.000332

14 0.99990 0.000145

LS1IEHIRNTAY
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Vo . v K w
ua=%=ﬂ1u11nﬁ1919ﬂHaUBaqnuﬁauazﬁﬂuwuanLnuﬁxﬁnngﬁinﬁa
4 4 o a. B |
nuwantwuﬂxﬁunqa (1) = 2BB.49 KVar RAGYNUALARIN = 1

TLAUNNTRIATY = 1987.75 €241727UTNT = 0.366448

4 o a ¥ di X
nuﬂantmuﬂsﬁunga (2) = 1036.69 KVar @aeasnudLasn = 3
TLAUNTTRIAGS = 0 ©7291287190197 = 1

Objective Function = 2876
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{ a w
IUIRDDIREHUTLRBTLINAY (1) = 500 KVar
e B e T a {
aﬂaqaguuuﬂn 1 tUuRznUgIARBTUUD 1

S { a v -~
IUIATBNACLUTLAATLINAL (2) = 1000 KVar

: ' w {
ﬁanqaguuuan 3 iiuazuUBiRatuuy 1

o < L : [ 2 w
Wad3INNL I laNnIn1T  Iteration ARLUMHARILTINR?

_ ol o { s TR |
Tuaﬂiﬂaiwa«11nnaa¢g;nﬂ%;aa1ua319ﬁau

Bus p.u. Volt p.u. angle
1 0.99638 0.005562
v 0.99681 0.004855
3 0.99671 0.004978
4 0.99682 0.004825
5 0.99772 0.003374
6 0.99835 0.002441
7 0.89853 0.002181
8 0.99871 0.001913
3 0.99891 0.001607

10 0.388806 0.001280

11 0.98937 0.000925

12 0.99864 0.000527

13 0.99876 0.000345

14 0.99989 0.000150

L91RERIADAY
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w . v od 4
uazazﬂqnﬂ1nu1ﬂ191aauaaqnuwﬂuazﬁ1uﬁuqntwnﬁzTNnQQ1§ﬁa
4 4 _ Y e 4
nu1antuu1=ﬁunqﬁ (1) = 1036.76 KVar ®ARYNUALRIN = 2

TEAUNNTAIAEY = 1105.70 29172103019

0.795076

4 d ¥ da d
ﬂuﬂnntun1zaanR (2) = 214.38 KVar ®AAdNUALREIN = 4
TLAUNNTAIATY = 1105.70 €291237090719 = 0.795076

Objective Function = 1403
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NAHUIN o
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n11Lﬂ?nusﬁaun1iqnin1aqu1zﬁqa

w { " el LT -
FMTVAZULIR L RB TUUNA1RINTN T HuTeuy 9 §ig 13 kv

R R OK K OR KOK KOk K KK R K K K K KK R K K % ok
* OPTIMUM SIZE AND LOCATION %
x*xxxxx*x**x*$¥*x****$*$$*x3**

«<< Press’Any Kev To Continue >35>

3K KK RO 3K K ook K sk ok K Sk K OR SKOK K K Kok ko k

* ~ TABLE OF POWER LOSSES x
R 3k K K K K R R R KKK R KK K OK Kok ok %

i  Before ' After . Losses
i Installed ! Installed i  Reduction
. Capacitor | Capacitor ' (kw/kvar)

<<< Press Any Key To Continue 5>>>



LRSS EEEEEEE ST ST ESEES

* OPTIMUM SIZE AND LOCATION *
3% 3% 3K 3K K K K K 5K K 5K K K 5K 5K 5K 3K 3K oK 3K 3K 3K X X X KK K X %

o
o
w
O
s
=
(=)
=
{
=
o
<
I>
=
O
23|
D)
Es
o
N
]
1=
H
O
=

] [}

v B 3637.9919645000

et He T T S SR PEEE SR S e s
AN Press Any Key To Continue >>>

ERES S F T TS T T B E TR R

*¥ TABLE OF POWER LOSSES *
KK K K K K 3K K KK K KKK KKK KKK R OR XXX

{ ___________ pe— T T T
i Before '

i Installed | Installed
i Capdeitor , Capacitor

Losses
Reduction
(kw/kvar)

<<< Press Any Key To Continue >>>
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KERK KKK KKK KK AR E R A AL N R R RN ERNEEX

* OPTIMUM SIZE AND LOCATION X
% 3K 3K K 3K 3K K K K K K K K K KKK KR Xk KR X X Rx kX

BUS | OPTIMUM KVAR OF CAPACITOR
_____ e e e o e e e e ek S A A S R s
r 3 462.3266040700
8 1069.0239828000
6 | 2908.9637631000
_____ | o e e e e e
<<< Press Any Key To Continue =>>>

KK R K KR K KKK R R K R R R K KR Rk kX X

* /TABLE OF POWER LOSSES *
KoK KK % K K KR K KR R KX R XK KKK KX XK X

I 1
I i i
i DBefore ! After | Losses
! Installed | Installed | Reduction
| Capacitor | Capacitor/} (kw/kvar)
R b . 4 e e b e e e e o e o
] 1 I
828). ™1 : 748.89 i 110.87
1 coean o o N T e~ D e e
1 1 I
Objective Function (§) : 147571.6

<<<

Press Any key To Continue >>>
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EE S S S SRR EEEEEEESEE T T LS

=< OPTIMUM SIZE AND LOCATION *
X 3 K K K KK K K 3K K K K K K K K K K K KK K K X X Rk K X

BUS | OPTIMUM KVAR OF CAPACITOR

| |

| :
- 268.6835748400
l i
i i

<<< Press Any key To Continue >>>

LRSS PEEEEEEEEEEEEEEEE S EE S S

*/ TABLE OF POWER LOSSES *
KEKKKKKKERFE XK KKKX KKK KKK

1
1 I
1 ]
» Installed | Installed Reduction
i Capacitoxr /| /Capacitor (kw/kvar)

Before After ! Losses
i
]
]

Objective Function (§) : 147585 .3

{<< FPress Any Key To Continue >>>
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3 3K KK 3K 3K 3K 3K K K KK 3K K KKK KK XK K X R K R KK K

* OPTIMUM SIZE AND LOCATION *
% 3K 3K 30K 3K 3K oK KK oK 5K K K KK SR 3K K K K X X X KX K K K

i BUS E OPTIMUM KVAR OF CAPACITOR

1 ! 3o0.4367785900
2 i 189.8065677700
L 3t 200.5307302700
s 348.5615920900
. 5§ 2024.5798a25000
[P, B o e e o
<<< Press Any Key To Continue »>>

KKK KK K KKK K KK K K OK ok Kok X X X % %

* TABLE OF POWER LOSSES x
HORA KKK KK KRR KOk Kk ok ok kR xk xRk Xk X

i Before - After ! Losses

+ Installed | Installed ! Reduction

. Capacitor | Capacitor./ {kw/kvar)
________ I____________I___.________.___I____'_________,___

1 I I
P Loss | 85 LN | T4 7. Bo”id 111.92
———————— R il e TR

Objective Function ($) / 147312.2

<<{< Press Any key To Continue >
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3 3K 3K K K 3K K K K KK K KK KK KK KK K KKK XK K X
¥ QPTIMUM SIZE AND LOCATION %
RXE KKK KKK KKK KK KKK KK KKK XX KKK KKK

we]
o
w
(@
lau]
—
—
=
P
=
o
-~
=
=}
(@]
)
e
L
el
L
(@]
b
3
@)
=3

i 2 { 189.8076213600

. 3 | .  148.7930096100
4 165.0273053500
. 5 1 734.8417510200 !
| 6 | 2027.8126188000
[ R T T R e 1
<<< Press Anyv Key To Continue >>>

K KRR K KK K R R KK K K KR KKK KR RORK

* ~TABLE OF POWER LOSSES *
03 KK Kok ok 3k ok ko ook Ok ok okokok ok okokox

I ] |

i Before : After : Losses .

i Installed | Installed | Reduction !

i Capacgitor | Capacitor/”) (kw/kvar) i
________ I_________",___I_________________|___________,___,._,_,|
1 ] 1 1

P Loss | 858 | T4 | 122.02 3
________ 1_______,___'___I__‘__'__'_________l______________l
1 L} ] I
Objective Function ($) ; 147512.1 1

<<< Press Any Key To Continue >>>
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3 5% ok oK 5K 5K 3% 3K R 3K 3R 3K 5K 5K K ok oK 3K 3K KK KK K KK KK K
x OPTIMUM SIZE AND LOCATION *
EEEKEKKKKX KKK KRB E R KA KKK KX RXEKKKEX

E BUS E OPTIMUM KVAR OF CAPACITOR E
R 300.1876658600 {
2 . 129.6701769000 §
.5 1 14e.6687609100 {
41 165.8998049500 g
5 1 734.6193747600 |
6 | 2590,7929592000 f

(<< Press Any Keyv To Continue >

FEIFERAF AR EREERKERKKEKK KRR KRR XK

* TABLE OF POWER LOSSES X
33K 3K K X R ROR KR K KO KRR K KOR R XXX X

Before ! After
Installed |} Installed
Capacitor ; Capacitor

1

1

Losses !

Reduction |
{ kw/kvar)

E

i

]

]

]

]

<<< Press Any Kev To Continue >>>



AIRHUIN 0

' F g - s
1171 TauL nauA N TR0l TE d e
1

s { ' . - -
d1u1unzuu?naa1uyuaquﬁu?q1§nu1=nu 9 Uid 13 kv

EmmokckRkkkkERERREE KRR

¥ TABLE OF RESULT *

EEE S S FEE S EEEEESE TS

l . | i |
NO | TYPE | BUS ! EVAR . SWITCHING i IN-SERVICE
i i { i LEVEL(KVAR) |DURATION(PU)
1 1 1 1 | TN
_____ L e T T Y IR A T 1
1 , 1 - S 1442.,43 | 1398.76 | 0.715343
————— R Nt A
ANNUAL NET SAVE $ : 2920

<<< Press Any Key To Continue >>>



XK K KKK KRR KR XK KKK X K
* TABLE OF RESULT =*

RS S EEEEEEES E S ST

i [} ] I
NO | TYPE ! BUS ! KVAR !  SWITCHING
: : : ! LEVEL({KVAR)
_____ 1_______:_____r___'_________'|___________~__
1 1 1 i
S o 7 1 #7148 ! 0.00
z | 1 | 35 4 1232,15 ! 1721,37
_____ | | SOy P L e i TN e e oL et el st P
i I 1 1
ANNUAL NET SAVE §
<<< Press Any Kev To Continue
XM KA K EEE RN KRB EKE
¥ TABLE OF RESULT *
FEH KA R E X R R E R KKK RE
_____ :________ | R | R M) | CCaGaI M DD AR o N oo e
1} i 1
NO | TYPE | BUS ! KVAR '\ _SWITCHING
' ' : ' LEVEL{KVAR)
----- i e e
L O A 469.62 | 2259.75
2 6 | & MeTIEharT 0,00
_____ I_______I (] 1
1
A

<<< Press Any hkey To Continue

i IN-SERVICE

{ DURATION{PU)
1.000000
0,573031

i IN-SERVICE
i DURATION(PU)

1.000000

. 0.335531
I

I
1
|
i
i
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AREXKKKKKRKKRKKKR KKK

* TABLE OF RESULT *
¥ % KKK K KK R K KKK KKK X XK

| H ; . .
! NO ! TYPE ! BUS ! KVAR | .SWITCHING ! IN-SERVICE
: : : : ! LEVEL(KVAR) |DURATION(PU)
§ : ‘‘‘‘‘ : _____ : __________ 1 ““““““““““““ 1 ___________
S 0 ¢ 1 ! 239.18 ! 0.00 ! 1.000000
1 @ 4 1 v 4 | 184 .41 ! 754.26 | 0.999655
3 | 2 's3 | 511.68 ! 1317.72 ' 0.751095
' 4 B OK B I 1241.04 ¢ 1964.62 ! 0.46572
| N I S b T D e e e e e
I ] 1 I I
\ ANNUAL NET SAVE S : 1891
<<< Press Anv Key To Continue >>>
AEAXXAXEEXEXXEEXTXXEETER
* TABLE OF RESULT *
KEkEkkXxkkhkkhkkxkikrkkikkkx
----- R e e e it
NO | TYPE | BUS ! KVAR !  SWITCHING ! IN-SERVICE |
: : ! ! LEVEL (KVAR) |DURATION (PU) !
————— i emememe ) ] e L e e e e e e )
1 ! o 4+ 1 239.13 | 0.00 | 1.000000 !
z ! T 3 4 3 178.60 ! 747.53  1.002623 |
3 1 3 1 5 3 666.30 ! 2516.06 | 0.222463 |
4 | 2 1 % 3 Yi43.57 ) 1249.54 | 0.781172 |
ANNUAL NET SAVE $ - 6334 |

<<« Press Any Key To Continue >>>
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XkkkkxIxhkhkkhkhXxkkkhxhkx

* TABLE OF RESULT *
R T R R

BUS | KVAR
1 194.03
2 137.85
5 615.10
6 1 1231.02
NNUAL NET SAVE $

SWITCHING
LEVEL (KVAR)

0.00
2038.83
972.77
197305

<{< Press Any Key To Continue

KXREXKXKEEKIEKXRXIEXKXX

* TABLE OF RESULT *

KX KREK X KhrX XXX X kXX

BUS | KVAR
1 199.89
2 141.42
5 | 724.14
6 1 1161.66
NNUAL NET SAVE §

SWITCHING
LEVEL (KVAR)

0.00
1985.91
2440.71

985.88

<<« Press Any Key To Continue >>>

IN-SERVICE
DURATION (PU)

1.000000
0.432986
0.903262
0.462004

IN-SERVICE
DURATION (PU)

1.000000
0.456332
0.255704
0.897480
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HERIXRKRKR Kk kKA XA XK

* TABLE OF RESULT *

kAKX AKEIRKX X XA Kk RX X%k

NO | TYPE | BUS | KVAR : SWITCHING i IN-SERVICE |
i i i i LEVEL (KVAR) |DURATION (PU) |
----- e e e e e e CE LS
1 o &+ 1 | 173,39 }§ 0.00 + 1.000000 |
2 3 3. 2 4 232 T 2918.05 | 0.149459 |
3 L.y 5 561.29 | 880.44 | 0.943992 |
4 | 2 & & 3 1219.31 1} 1697.50 | 0.583558 |
----- e e e e e
ANNUAL NET SAVE § i 7042 |
{<< Press Any Key To Continue >>>

AKX KKXIEE A XXX KX XX kXXX

* TABLE OF RESULT *

Xkkkhkkhkkkhikkkhkkdixx
----- e et e e e
NO | TYPE | BUS | KVAR ' SWITCHING i IN-SERVICE |
i H " i LEVEL(KVAR) |DURATION (PU) |
----- el e e T et et
1 o i 1 | 194.64 | 0.00 | 1.000000 |
2 3 ¥ 2 | 185.95 | 3026.19 | 0.136712 |
3, i 2 4+ 5 | 686.51 | 2088.22 § 0.411201 |
4 1 1 6 | 1127.64 | 957.76 | 0.909884 |
_____ l____._,_l..____,_l____.______.,_I______________I________.__..._,:
ANNUAL NET SAVE § i 7063 |

{<< Press Any Key To Continue >>>



Ak xaxhkkhkkhkhkXxA kX kX

* TABLE OF RESULT *

kb RIREARRARLRR AR

i H i i g
NO | TYPE | BUS | KVAR ! SWITCHING | IN-SERVICE
H | l i LEVEL(KVAR) |DURATION (PU)
1l | I § L 234.35 | 1812.73 | 0.532729
2 o i 5 | 858.65 | 0.00 |} 1.000000
3 2 1 6 582.48 | 1747.97 + 0.561295
4 3 1 6 | 583.4259 2484.11 | 0.236559
ANNUAL NET SAVE $§ i 6605
{<{< Press Any Key To Continue >>>
KAXkKXKX XXX XKXXXXXX kKX
* TABLE OF RESULT #
Ak XXEAkEXkERkEXXXR XXX
NO | TYPE | BUS | KVAR ! SWITCHING | IN-SERVICE
H i i ! LEVEL (KVAR) |DURATION (PU)
----- | e el eremeltaresaenanl ssmeRrsreseH iSESE e s
1 i 1+ 1 | 234.36 | 1812.85 | 0.532675
2 3 o + 5 | 858.71 | 0.00 | 1.000000
3 3 I 6 | 582.66 | 2484.76 | 0.236274
4 2. B A 583.29 | 1748.59 | 0.561024
----- (Vatooin o f s e e R e e nt ol e s e b e e e tnatating
ANNUAL NET SAVE $ | 6607
<<< Press Any Key To Continue >>>
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AKkEAkXxxEXx kA X XXXk kXXX

* TABLE OF RESULT *

kkXxhkkkkxkkhhxhkhkkhkk

_____ b il i e e e e e el e e L e e
NO | TYPE | BUS | KVAR i SWITCHING | IN-SERVICE
i i i \ LEVEL(KVAR) |DURATION(PU)
1 | 1 ¢ 1 164.25 | 1601.41 | 0.625950
2 2 4 2 i 1:30. 76 2236.59 { 0.345750
3 1 0 3 B Q 853.72 | 0.00 | 1.000000
4 3 1+ 6 | 1056.38 | 2117.56 | 0.398255
ANNUAL NET SAVE $ g 5261
<<< Press Anv Key To Continue >>>
AkkXx kXX XkRXXx Xk kkkdk
* TABLE OF RESULT *
AKX XXAk XXk hkhkhkhhkkkhx
----- e e e i e B
NO | TYPE | BUS | KVAR i SWITCHING | IN-SERVICE
i i H i LEVEL(KVAR) {DURATION(PU)
"""" R B A o S T i i
1 1 ¢ 1 | 165.38 | 1424.70 | 0.703903
2 2 1 2 | Y78.71 | 2149.18 | 0.384306
3 | 3 ¢« 5 | 580.48 | 2620.21 | 0.184566
4 0 + 6 | 1499.88 | 0.00  1.000000
ANNUAL NET SAVE § i 7168

<<< Press Any Key To Continue >>>
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eSS EEFEFERE SRS EEE S

* TABLE OF RESULT *

eSS EEETEREE S

1 ] 1 1
[} 1 1 I
NO | TYPE | BUS | KVAR i SWITCHING i+ IN-SERVICE
i ' | i LEVEL (KVAR) |DURATION({(PU) |
----- e B e T
1 1 & 1 13 L35 T2 1464.26 | 0.686450
2 i 3 ¢ 2 215, 393 2958.35 | 0.144709
3 | 0 I 5 | 812 . 6 0.00 { 1.000000
4 | 2 + 6 | 1046.26 183E32.. ¢ 0.512615
ANNUAL NET SAVE § H 7291
<K< Press Any Key To Continue »>>>
Ehkhhkhrh ki ki rkx
* TABLE OF RESULT *
RERXAEEhhkhhhkhkhkk kK
----- e T e e e T T ——
NO i TYPE | BUS | KVAR | SWITCHING | IN-SERVICE
i i i i+ LEVEL (KVAR) |DURATION (PU)
_____ | SUSECRA TSN [ u el | ——— e e Ve e EmEmes e e o e
I i 1 i 1 i 167.01 | 1416.97 i 0.707309
2 3 3 1 2 204.64 | 2983.16 | 0.141783
3 2 4 85 i 543.92 | 2222.88 | 0.351795
4 0 V 6 | 1479.99 ! 0.00 } 1.000000
----- R T e Tl R
ANNUAL NET SAVE $ i 7646
{<{< Press Any Key To Continue >>>



XEXXRX I A Ak ko okok ok % & %

* TABLE OF RESULT *

:‘(X.‘:i{:‘::‘::‘r*:ﬁ:)‘::‘::‘!***:‘::’(*x

i i i
NO | i KVAR i SWITCHING | IN-SERVICE
i ' + LEVEL(KVAR) }DURATIONX (PU)
1 2 1 1 131.14 2092:93 | 0.409121
2 1 6 i 2 234 .59 0.00 | 1.000000
3 3 I ¥ 5 587.87 | 1025.05 | 0.880202
4 | 3 1 6 | 1225.3% 4 1977.84 ! 0.459892
ANNUAL NET SAVE § ! 4731
(<< Press Any Key To Continue 5>5>>
:‘::‘:k.‘:.‘:*:‘::‘tt:‘::‘:}:)‘::‘:ﬁ:‘::‘:!:‘:
* TABLE OF RESULT *
xﬂ:kt*ﬁ*xx*********‘k
NO | TYPE ! BUS ! KVAR i SWITCHING | IN-SERVICE
| i i + LEVEL (KVAR) !DURATION (PU)
L | 2 7 1 131.63 } 2099.24 | 0.406337
2 o 1 2 246.52 | 0.00 | 1.000000
3 3 3 &5 4 692.67 | 2482.07 | 0.237458
4 1 1 6 1 1162.14 ! 1045.06 | 0.871375
ANNUAL NET SAVE § H 6093
(<< Press Any Key To Continue 5>>>
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HERRE R AR KKk ok ok k¥

* TABLE OF RESULT *

REREIEIERRAERIIR KRRk ko

NO | TYPE | BUS | KVAR - SWITCHING i IN-SERVICE
i i i + LEVEL (KVAR) |{DURATION (PU)
1 2 4 L 1 172 .20 } 2224.07 | 0.351273
2 3 3 W w2 180.68 | 3038.32 | 0.135281
3 | 0 i 5 3 820.49 | 0.00 i 1.000000
4 | I @ %6 § 1024.54 3 1682.98 | 0.589967
----- | Sommms {meme e ] e e o QAR St~ m s | h s mm e
ANNUAL NET SAVE $ | 7461
<<« Press Any Key To Continue >>>
Xk %k KK X kR ke k ko
* TABLE OF RESULT *
LSS S SR ESEEE L EERE R
NO | TYPE | BUS ! KVAR : SWITCHING i IN-SERVICE
: i i i LEVEL(KVAR) |DURATION (PU)
3 2 1 | 5 5 7 2093.57 |} 0.408839
S 3 1 2 3 212.63 | 2964.72 | 0.143957
3 ¢ L 7 5 | 502.81 1862.34 | 0.510845
4 ) 0 ' 6 : 1483.46 | 0.00 H 1.000000
————— e B T e e Tt L T

ANNUAL NET SAVE $§ ‘ 7807

<<< Press Any Key To Continue >>>
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EEXFI Rk kkh Xk k ko ®

* TABLE OF RESULT *

AEXRXI X F A XLk h ok ok k¥ %

NO | TYPE | BUS ! KVAR ' SWITCHING i IN-SERVICE |
| i : + LEVEL (KVAR) |DURATION (PU) !
1 4 2 7 1 175.16 ! 2105215 % 0.403732 !
2 L v 2 3 118.84 148734 1 0.676355 |
3 0O + 5 | 851.38 0.00  1.000000 !
4 | 3 ¢ 6 | 1059.32 ! 2115.20 1 0.399296 !
----- l-----—:---“-:-~—---—---}—--————~-—-—-:——-———-—--*-i
ANNUAL NET SAVE § | 5269 |
___________________________________________ PR o ey e [
(<< Press Any Key To Continue >>>
khkhkhmrhhhhkhkhkkrns
* TABLE OF RESULT *
Kk hdkmxmkhkbhkrhnkhss®
NO | TYPE | BUS | KVAR ' SWITCHING | IN~SERVICE
H | | i LEVEL (KVAR) |DURATION (PU) !
1 | 2 1 1 | 179.74 2118.59 | 0.397801
2 | 1 + 2 13 163.63 ! 1389.04 } 0.719631 |
I F 7 5 i 582.65 | 2617.98 | 0.184829
4 0 6 | 1496.70 ! 0.00  1.000000
ANNUAL NET SAVE $ H 7161 i

(<< Press Anv Key To Continue »>>>



{<< Press Anv Key To

<{<< Press Anv Key To

NNUAL

ThEEREKRERRIR R KKK XX

* TABLE OF RESULT =

eSS S SR LGRS EEE LS S

550.53

NET SAVE §

161.70
241.00
666.80
1129.79

SWITCHING
LEVEL (KVAR)

2919.63
0.00

Continue

XAKEE XX AKX AR XX X

* TABLE OF

Ak kA A XA RAAA Ak X

RESULT *

SWITCHING
LEVEL (KVAR)

3020.67

0.00
2161.01
1017.66

Continue

IN-SERVICE
DURATION (PU)

0:.148273
1.000000
0912531
0.565039

IN-SERVICE
DURATION (PU)

0.137362
1.000000
0.379088
0.883461
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i
TR A Ak k kxR ok ok ok

* TABLE OF RESULT =

LRI I 1

NO | TYPE ! BUS ! KVAR i SWITCHING | IN-SERVICE !
i i ! « LEVEL (KVAR) |DURATION (PU) !
I 3 3 ¢ L ¢ 221 .48 2834.57 |} 0.159298 :
2 | 1 v 2 111 .52 1431.98 i 0.700690 !
3 | 0 v B i 824.23 0.00 { 1.000000 !
4 | 2 ¢ 6 | 1050407 1844 .66 i 0.518644 |
ANNUAL NET SAVE § ; 7134 !
{<< Press Any Key To Continue >>>

b A S A B S

* TABLE OF RESULT *

***tt*#txt!k%&ﬁttx*
NO | TYPE | BUS ! KVAR H SWITCHING i IN-SERVICE |
i i i i LEVEL (KVAR) !DURATION(PU) !
1 | 3 R (. 196.73. | 2912.00 | 0.150172 i
2 | 1 C20 ) 173.63 | 1398.24 | 0.715573 |
3 : 2 H 5 H 544 .61 ! 2234.76 | 0.346556 :
4 | 0 | 6 | 1478.21 ! 0.00 | 1.000000 |
_____ l..-____1..___..l___.._____..:___.____..._____:_.--..-.-....-————1
ANNUAL NET SAVE $ i 7543 H

<<< Press Any Key To Continue >>>



FRERARE IR AR A X Aok k kk %

* TABLE OF RESULT *
FHEKKE X KKK KK K Kk Xk X

=
©]
=
-
J
t

[} i
i BUS | KVAR i  SWITCHING | IN-SERVICE
i i i LEVEL (KVAR) |DURATION (PU)
1 3 & 1 i 201.84 | 2896.00 | 0.152057
2 2 & 2 144.70 | 2212.41 | 0.356415
3 0 + 5 1} 824 .75 0.00 | 1.000000
4 1 | 6 | 1026.86 1 1689.82 | 0.586946
ANNUAL NET SAVE § : 7285
{<< Press Any Key To Continue >>>
EREZTERREEXKXX KA XA KX XX
* TABLE OF RESULT *
RhkkhkhkkIhhhhhkhdkixk
----- gEERenE ey fernrssna e peeasE oSt mem o R S e
NO | TYPE | BUS | KVAR i SWITCHING | IN-SERVICE
i l i i LEVEL (KVAR) |DURATION (PU)
_____ B s s e W i i N g s s e B e e e
1 A 3 ¢+ 1 205.34 | 2885.08 1 0.153345
2 0 2 v 2 171.15 j 213127 | 0.392209
3 1 1 5 509.72 | 1869.64 | 0.507622
4 0 + 6 1 1484.12 | 0.00 { 1.000000
ANNUAL NET SAVE $ I 7689

<K< Press Any Key To Continue
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